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Question Number : 1 Question Id : 6154752051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



In the two zetz given below. Set I provides levels of teaching while Set II gives their focus of

concern :
Set I
(Levels of Teaching)
(a) Autonomous development level
(b) DMemory level
(c) Understanding level
(d) Reflective level

Select correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (h)-(11). (c)-(1v). (d)-(v)

(a)-(1). (b)-(1v). (e)-(11). (d)-(11)
(a)-(11). (h)-(111). (¢)-(1v). (d)-(1)
(a)-(v). (b)-(1v). (¢)-(111). (d)-(11)

E154755001. 1
E154753800z2 2
6154753003, 3
E154758004, 4

(1)
(11)
(111)

(1v)

(V)

Set II
(Focus of concern)
Problem raising and problem solving
Affects and feelings
Recall of factz and informations

Seeing of relationship among facts and
their examples

Peer learning

Question Number : 1 Question Id : 6154752051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (c)-(v). (d)-(v)

(2) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)

(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)

(4) (a)-(v). (b)-(av). (c)-(11). (d)-(11)
Options:

E154758001. 1
E1547538002 2
E1547538003. 3
5154758004, 4

Question Number : 2 Question Id : 6154752052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of classroom teaching. the foundation on which a warm and nurturing
relationship with learners can be built 1s called :

(1) Probing (2) Teacher Affect
(3) Structuring (4) Feedback
Options:

6154753005, 1
E154758006, 2
E1547538007 3
E1547538008. 4

Question Number : 2 Question Id : 6154752052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E154758005. 1
E1547538006, 2
E1547538007. 3
E154758005. 4

Question Number : 3 Question Id : 6154752053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list of learning outcomes indicated below. identify those which are said to be high
level outcomes :

{(a) Learning of facts and rules

(b} Showing the abilitv to analvse and svnthesize
(c) Awareness. responding and valuing

(d) Imitation. manipulation and precision

(e) Articulation and naturahzation

(f) Organization and characterization

Select correct answer from the options given below :

(1) (b). (e) and (f) (2) (a). (b) and (c)
(3) (b). (c) and (d) (4) (a). (c) and ()
Options:

E1547580059. 1
6154753010, 2
E154758011. 3
E154758012 4

Question Number : 3 Question Id : 6154752053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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6154753009, 1
E154758010 2
E154758011. 3
E15475801% 4

Question Number : 4 Question Id : 6154752054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following sequences correctly reflects the evolution of educational

technology support in higher education?

(1) Programmed learning material, text book support, online and modular material

(2) Text book supplementation, programmed learning material, modular material and

online methods

(3) Modular material, programmed learning, online and text book supplementation

(4) Online methods, modular material, text-book supplementation and programmed

learning material
Options:
154758012 1
154758014 2
6154758015 2



E154758016. 4

Question Number : 4 Question Id : 6154752054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154758013 1

E154758014 2
6154758015 3
6154758016, 4

Question Number : 5 Question Id : 6154752055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the two zets given below 1n which Set I mentions levels of measurment and Set II
their properties :

Set I Set I
(Levelz of measurement) (Properties)
(a) Nominal (1)  Classification. order. equal umits and
absolute zero
(b)  Ordinal (1) Claszsification, order and equal units
(c) Interval (111) Classification
(d) Ratio (1v) (Classification and order

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(4) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)



Options:

6154758017 1
£154758018. 2
£154758019. 2
154758020, 4

Question Number : 5 Question Id : 6154752055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(i1), (c)-(1i1), (d)}-(1v)
(2) (a)-(11). (b)-(111). (c)-(v). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

6154753017 1

6154758018, 2

6154758019 3
6154753020, 4

Question Number : 6 Question Id : 6154752056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the tests from the list given below. which are maximum performance tests in the

context of research :

(a) Personality tests
(b) Projective personality tests
(c) Achilevement tests

(d) Attitude tests
(e) Intelligence tests

(f) Aptitude tests

Choose correct answer from the options given below :

(1) {a). (b) and (c) {2) (b) (c) and (e)
(3) (c). (e) and () (4) (a). (d) and ()
Options:

E154758021. 1
B154r58022 2
B154758023 3
E154758024. 4

Question Number : 6 Question Id : 6154752056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758021 1
£154758022. 2
E1547580232 2
6154758024, 4

Question Number : 7 Question Id : 6154752057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research 1s cyelic in nature?

(1) Fundamental research

(2) Applied research

(3) Action research
{4) Evaluative research
Options:

5154758025 1
6154758026 2
E154758027. 3
6154753028 4

Question Number : 7 Question Id : 6154752057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6154755025 1
E15475E02E. 2
E154758027. 3
6154758025 4

Question Number : 8 Question Id : 6154752058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following sampling methods emploved 1n research. the units comprising the

sample are given equal and independent chance?

(1) Stage sampling
(2) Cluster sampling
(3) Dimensional sampling

(4) Snowball sampling

Options:

6154758029 1
6154758020, 2
6154758021, 3
£154758032. 4

Question Number : 8 Question Id : 6154752058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

6154758029 1
6154758020, 2
6154758021, 3
6154758032 4

Question Number : 9 Question Id : 6154752059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The 1ssue of research ethics becomes relevant in which of the following stages of rezearch?

(a) Problem selection

(b) Hypothesis formulation

(c) Hypothesis testing

(d) Data analysis and interpretation

(e) Defining of research population

Select correct answer from the following options :

(1) (a) and (b) (2)  (c) and (d)
(3) (b} and (e) (4) (c)and (e)
Options:

E154758033. 1
E1547580234 2
5154758035 3
E154758036. 4

Question Number : 9 Question Id : 6154752059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

6154753032 1
E1547580234, 2
E154758035 3
E1547538036. 4

Question Number : 10 Question Id : 6154752060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which type of qualitative research designs. individual stories to describe the lives of
people are explored?

(1) Ethnography (2) Grounded theory research
(3) Svmbolic interaction (4) Narrative research
Options:

E154758037. 1
61547538038 2
E154758039. 3
E154758040 4

Question Number : 10 Question Id : 6154752060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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51547580371
6154758038 2
61547538039 3
E154758040, 4

Question Number : 11 Question Id : 6154752061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mini-summaries at the end of each class 12 called

(1) Verbal break-up

(2) Chichéd conclusion

(3) Verbal signposting

(4) Staggered conclusion
Options:

E154755041. 1
6154753042 2
E154758043 3
E154758044, 4

Question Number : 11 Question Id : 6154752061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E154755041. 1
E154758042 2
E154758043 3
5154758044, 4

Question Number : 12 Question Id : 6154752062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Micro expressions, as part of classroom communication. are

(1) negative
(2) positive
(3) manipulative

(4) fleeting

Options:

5154758045 1
6154758046, 2
6154758047, 3
£154758048. 4

Question Number : 12 Question Id : 6154752062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6154755045 1
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E154758047 3
5154758048, 4

Question Number : 13 Question Id : 6154752063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

knd

Which of the following are essential for good classroom communication’

(a) Over-emphasis on certain words
(h) Use of gobbledvgook

{c) Proper emplovment of redundancy
(d) Immediacy of feedback

(e) Non-verbal cues

(f) Sidelining student criticism

Choose the correct option from the following :

(1) {(a). (b) and (c) (2) (b). (e¢) and ()
(3) {c). (d) and (e) (4) (d). (e) and (D
Options:

5154758045 1
61547538050, 2
6154753051, 3
E154758052, 4

Question Number : 13 Question Id : 6154752063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154758045 1
61547538050 2
61547538051, 3
6154753052 4

Question Number : 14 Question Id : 6154752064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pitch of the teacher's voice in the classroom 1s described as

(1) Linguistic (2) Paralinguistic
(3) Non-linguistic (4) Macro-hnguistic
Options:

E154758053. 1
E154758054 2
6154758055 3
E154758056. 4

Question Number : 14 Question Id : 6154752064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E154758054 2
6154758055 3
5154758056, 4

Question Number : 15 Question Id : 6154752065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One 15 labelled as Assertion (A) and the other 1s labelled
as Reazon (R).

Assertion (A) ; If a teacher wants to improve his or her abilities as an effective classroom
communicator. he or she should first understand the students.

Reasons (R) : The ability to understand students and intended listening are disjointed
propositions.

In the light of the above two statements. choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 false. but (R) 12 true

Options:

E15475H057. 1

C1E47EE0ER. 2

154755059 =2

154758060, 4

Question Number : 15 Question Id : 6154752065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
1547580571

E154758058. 2
E154758059. 3
E154758080. 4



Question Number : 16 Question Id : 6154752066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the missing term in the series given below?

2.4.6, 12, 10,36, 14,7, 15,524, .....

(1) a0 (2) T2
(3) 108 (4) 18
Options:

E154758061. 1
E1547580682, 2
E154758063. 3
E1547538064, 4

Question Number : 16 Question Id : 6154752066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

f=fafiga g@en § 99 3% #0127

2odoe; 12. 10; 36; 14, 2 18, 324 .

(1) 50 (&) I
(3) 108 (4) 18
Options:

E1547558061. 1
E154758062. 2
E1547580E3. 3
E154758064, 4

Question Number : 17 Question Id : 6154752067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Apoorav 1z son of Madhu. Vinod 1s brother of Madhu's husband. How 15 Apoorav related to
Vinod?

(1) Uncle (2) Brother
(3) Nephew (4) Cousin
Options:

6154758065, 1
E15475306E. 2
E154758067. 3
E1547538068. 4

Question Number : 17 Question Id : 6154752067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

5154758065, 1
E154758066. 2
E154758067. 3
E154758068. 4

Question Number : 18 Question Id : 6154752068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a certain code "ENGLAND" 1z written as “ULSNYLV". Using the same code. “IRELAND”

will be written as

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

6154753069, 1
E154758070 2
E1547538071. 3
B154r58072. 4

Question Number : 18 Question Id : 6154752068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 “ENGLAND” # &¢ “ULSNYLV" 2 1 3di e 9™ %1 $4m &4 T “IRELAND” # %2
fefigd 4 O 7-rE w=n forgn = 7

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

51547580859 1
E154758070. 2
6154753071, 3
E154758072 4

Question Number : 19 Question Id : 6154752069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of two numbers @ and b 1s 3 ;: 7. After adding 9 to each number. the ratio becomes
9 :17. The numbers ¢ and b are :

(1) (6. 14) (2) (9. 21)

(3) (15. 35) (4) (185.42)

Options:



E154758073. 1
6154758074 2
6154758075 3
E154758076. 4

Question Number : 19 Question Id : 6154752069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (6, 14) 2y (9, 21)
(3) (15, 35) (4) (18, 42)

A

i

Options:

6154758073
6154758074,
6154758075,
6154758076,

T

Question Number : 20 Question Id : 6154752070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term 1n the series

AT. EQ, IN, OK, ..... 18

(1) UH (2 UP
(3) USs (4) UU
Options:

B154758077. 1
E154758078. 2
61547538079 3
E154758080. 4

Question Number : 20 Question Id : 6154752070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AT. EQ, IN. OK. .....

(1) UH (2) UP
(3) us (4y UU
Options:

E154753077. 1
E154758078. 2
E15475380739 3
5154758080, 4



Question Number : 21 Question Id : 6154752071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Evervone 1s going to the party. You should go too.” This inference commits which kind of
fallacy?

(1) Ad Populum (2) Eguivocation
(3) Ad Verecundiam (4) Ad Ignorantiam
Options:

E154758081. 1
6154753082, 2
E154758083. 3
E154758084. 4

Question Number : 21 Question Id : 6154752071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gT 2 U § A1 TET 2| AR S S 90T 39 AAE F99 § R ° a65eW 27

(1) U8 9rgeH (2)  FIFEF (EarRa)
(3)  ug dfEfzan (4) UE TAAZIY
Options:

5154758081, 1
E154758082. 2
61547538083 3
E154758084. 4

Question Number : 22 Question Id : 6154752072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All students cleared their examination” and “Few students did not clear their examination”.

This 1s an instance of

(1) Contradictories (2) Superaltern
{(3) Subaltern (4) Contraries
Options:

E154758085. 1
6154758086, 2
E154758087. 3
6154758088, 4

Question Number : 22 Question Id : 6154752072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt BE T A ofEn S R qen cwae gEn 3 A olfien 395 aE

7z FAitFa § O T 39 27

(1)  Tadremam (2) AlgHE (W 3AeeH)
(3)  ITEEr (4)  TaIETanes
Options:

E154758085. 1
E154758086, 2
E154758087. 3
E1547538088. 4

Question Number : 23 Question Id : 6154752073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Product of two consecutive integers 1s divisible by 2. Therefore 4 x 5 (=20) 1= divisible by 2.

This 1s an example of which tvpe of Reasoning?

(1) Abductive (2) Informal
(3) Inductive (4) Deductive
Options:

E154758089. 1
6154753030, 2
E154758091. 3
E1547538092. 4

Question Number : 23 Question Id : 6154752073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
21 T qUIT=R 1 OERA T 2 H a9y 21 94, 4 x 5 (=20) T 2 fawreT 2

T 750 THF F 9% 1 35 27

(1) HAITHATH* (2 ST
(3)  STIEATHE (4) FTEATEE
Options:

E154758089. 1
61547538080 2
6154758031 3
6154753092 4

Question Number : 24 Question Id : 6154752074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The distinction between laukika and alaukika is made with reference to which one of the
following pramanas?

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Pratvaksa (Perception) (4) S'abda (Verbal testimony)
Options:

E154758083. 1
E154758094 2
E154758095 3
51547538096, 4

Question Number : 24 Question Id : 6154752074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fr=afafiga 1 O frg s & g § SifRsT 99 “IreilEsT % 9 319 3 R S 27

(1) H4HH (2) 3JTHHA
(3) Tcg4 (4) THleqg
Options:

E15475380353. 1
6154753094 2
E154758095 3
E1547538096. 4

Question Number : 25 Question Id : 6154752075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Some students are sincere’ 1s an example of which preposition?

(1) Universal Affirmative (2) Universzal Negation
(3) Particular Affirmative (4) Particular Negation
Options:

BE1547538097. 1
6154758088 2
6154758039 3
6154752100, 4

Question Number : 25 Question Id : 6154752075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FF BH FAAEE 7. T2 50 TFR F THEA F1 35w 27

(1)  OE4H @99 (2) T e
(3)  faum faem (4) TafTe fHug
Options:

B154758087. 1
6154758088 2



E1547580939 3
E154758100. 4

Sub-Section Number: 2
Sub-Section Id: 61547593
Question Shuffling Allowed : Yes

Question Id : 6154752076 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

Q. No. 26-30

The following table gives the percentage of marks obtained by five students in five subjects.
Maximium marks in each subject are given in the parenthesis below the subject name.

Percentage (%) Marks obtained
Student | Maths | Chemistry | Physics | English Physical Education
(100) (120) (150) (100) (100)
A 90 80 95 S0 a0
B 80 75 a0 70 80
C 100 95 95 85 a5
D 5 70 60 65 60
E 60 a0 65 50 70

Sub questions

Question Number : 26 Question Id : 6154752077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ageregate of marks obtained by E 1s :

(1) 252.5 (2) 2b1.5
(3) 353.5 (4) 3bH2.5
Options:

E154758101. 1
E154758102 2
E1547558103 3
5154758104, 4

Question Number : 27 Question Id : 6154752078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the difference between ageregate marks obtained by A and C?

(1) 40.5 (2 41.5
(3) 42.5 (4) 43.5



Options:

6154758105 1
154758106 2
E154758107. 2
6154758108, 4

Question Number : 28 Question Id : 6154752079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which subject. the students have obtained lowest average (%) percentage of marks?

(1) Chemistry (2) Physics
(3) English (4) Physical Education
Options:

E1547551059. 1
6154752110 2
E154758111. 2
E154758112 4

Question Number : 29 Question Id : 6154752080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The agegregate percentage of marks obtained by C are :

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options:

515475581121
6154758114 2
E154758115 3
E154758116. 4

Question Number : 30 Question Id : 6154752081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average percentage of marks obtained by the students in Chemistry?

(1) T4% (2) 7T9%
(3) 80% (4) 81%
Options:

E154755117. 1
6154752118 2
E154758119. 3
E154758120 4

Question Id : 6154752076 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)



Cuesticon Label | Comprehension

o5 9. 26 T 30

ffeafaa arfasr 4 o= fasal ° 9i9 @0 g we =6 T 3 SR aiasEdn g 2| ueas e o g
fama % 7 % 9= F+EF I ™ 2

(100) [ (150) | (150) | (100) (100)
A 00 30 95 30 90
B 30 75 90 70 80
C 100 95 95 85 95
D 75 70 60 65 60
E 60 50 65 50 70

Sub questions

Question Number : 26 Question Id : 6154752077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 2532.5 (2) 251.5
(3) 353.5 (4) 352.5
Options:

E154755101.1
61547538102 2
6154752102 3
E154758104. 4

Question Number : 27 Question Id : 6154752078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 3R C % T YHIR 1 3AF Faar 27

(1) 40.5 (2y 41.5
(3) 42.5 {4) 43.5
Options:

E154755105. 1
E1547538106 2
61547538107 3
E154758108. 4



Question Number : 28 Question Id : 6154752079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o0 Tama O @i 9 a0 99a (%) 9faea 3% 9 5 27

(1) ™A fagmA (2) it fagm
(3) AU (4)  FIHTER e
Options:

5154758105 1
6154758110 2
E154758111. 3
6154758112 4

Question Number : 29 Question Id : 6154752080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
C 3T el Tohad Uided 1% e 63 137

(1) 92.20% (2)  04.17%
(3) 95.21% (4) 91.17%
Options:

£154755113. 1
61547538114 2
E154758115 3
E154758116. 4

Question Number : 30 Question Id : 6154752081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 93 § B w1 Aieg gfaee ureE = e

(1) 4% (2) 79%
(3) 80% (4) 81%
Options:

E154755117. 1
6154752118 2
E154758119. 3
E154758120 4

Sub-Section Number : 3
Sub-Section I1d: 61547594
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 6154752082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a programming language?

(1) Deep learning (2) Machine learning
(3) Artificial Intelligence (4) Python
Options:

E154758121.1
E154758122 2
6154758123 3
B154r58124. 4

Question Number : 31 Question Id : 6154752082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TtertEa O % U S 9 g v

(1) 2 = (2) HIEE AR
(3)  Fhm gig (4) TEEH
Options:

BE154758121. 1
6154758122 2
6154758122 3
61547538124 4

Question Number : 32 Question Id : 6154752083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last I with Last II.

List I List IT
(a) WWW (1)  Volatile memory
(by JAVA (1) Non-volatile memory
(c) RAM (1) World Wide Web
(d) ROM (1v) Programming language

Choose the correct option from the following :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-{1)
(3) (a)-(111). (b)-(av). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
Options:

6154758125 1

154758126 2

E154758127. 2

6154758128 4

Question Number : 32 Question Id : 6154752083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 ge1-11 T oo &4

=1 = -11
(a) =g Zog 3 (WWW) (i)  THEd-Efe i
(b) ST (JAVA) (1) T-gfEdsie Jid
(¢) 1 (RAM) (ii1) des 92s 99
(d) ™ (ROM) (iv) ST e
FefaiEa 8 4 w@ fawen 94

(1) (a)-(1). (b)-(11). (e)-(111). (d}-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
Options:
6154758125, 1
6154758126, 2
6154758127, 3
6154758128, 4

Question Number : 33 Question Id : 6154752084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which description 1s appropriate among the following for ‘E-Governance'?

(1) To engage. enable and empower the citizens

(2) To provide fair and unbiased services to the citizens
(3) To provide technology driven governance

(4) To ensure people’s faith in E-Commerce applications
Options:

BE1547581259. 1
6154758130 2
E154758131. 2
6154758132 4

Question Number : 33 Question Id : 6154752084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“F-TEAE" F [0 EdiEd 3 3@ F4 |1 G 399 2 7

(1)  TATiE=T =1 9Fier, 990 31 9 991
(2) AV 1 34 31 9499 Ted dae o
(3) SR Aot gemEE w1

(4)  S-FOE FAITEM H F9 1 fAvam g w7

Options:

6154758129 1
154758120 2
6154758121, 2
6154758132 4

Question Number : 34 Question Id : 6154752085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a search engine?

(1) Internet
(2) Bing
(3) Skvpe

(4) Acrobat Reader

Options:

6154758133 1
1547581324 2
£154758135 2
6154758126, 4

Question Number : 34 Question Id : 6154752085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MO T FH T 04 a9 27
(1) ELREE
(2)  Tem

(3) =hIzY (skype)

(4) UshielZ 1=t

Options:
6154758123 1
6154758124 2



E154758135 3
E15475581356. 4

Question Number : 35 Question Id : 6154752086 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Aszertion (A):  The internet 1s a collection of interconnected computer networks, linked by
transmission medium such as copper wires. fibre-optic cables. wireless

connections ete.

Reasons (R) : World Wide Web 1s a collection of interconnected documents.
In the right of the above two statements, choose the correct answer :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 18 not correct explanation of (A)
(3) (A) 1s true. but (R) 1= falze
(4) (A) 1s false. but (R) 1s true

Options:

6154758137 1
1547581328 2
1547581329 2
6154758140, 4

Question Number : 35 Question Id : 6154752086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



J 31 #9920 0 €, U w AEEE (A) 3R 35 F T (R) Fa ™ E

FTFAE (A) 2302 Ad: TANAA FO2L I2a9H] #1 U% d9=4 2 91 914 & dr, FEa-Aes Fad,

ACTH F99H, TANE 48 J=00 HIAH] ¥ 21 26 2

T (R) : des A58 dd Id; BAMd Yord] #1 UF 9= 2|
ITF GHI FGAT F AT H TE I G

(1) (A) 3 (R) ZHT1 |21 2 31 (R). (A) =i T2 == 2
(2) (A) FT (R) SET B8 ¢ 31 (R). (A) il T =041 T8l ¢
(3) (AT 2, 5 (R) T 9E 2

(4) (A Td TE 2. T (R) T8 2

Options:

6154758137 1
1547581328 2
1547581329 2
6154758140, 4

Question Number : 36 Question Id : 6154752087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the Sustainable Development Goals from the list given below :
(1) Zero Hunger
(11) Quality Education
(m) Universal Primary Education
(iv)  Clean Water and Sanitation
(v) Green Agriculture

(vi) Climate Action

Select correct answer from the options given below :

(1) (1). (11). (111) and (1v) (2) (1) (111). (1v) and (v)
(3) (111). (1v). (v) and (1) (4) (1). (). (av) and (v1)
Options:

E154758141. 1
E154758142 2
5154758142 3



E154755144 4

Question Number : 36 Question Id : 6154752087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tafafigs § o guwotm fTm + =231 Ff 72=3r Fifau
(D I (S ER)

(i)  ToTEETgel e

(iii) T g e

(iv) =8 9o AR ==gdl

(V) i FiN

(vi)  eAar] H

!:. F (i r-r- r “ﬁﬁﬂ%ﬁ'mﬂr ,ﬁ|:_'.1:

(1) (1), (i1), (i11) 37 (iv) (2) (). (). (iv) 3 (v)
(3) (iii), (iv). (v) 3T (1) (4) (1. (1i). (iv) 3T (v1)
Options:

61547551411
E154758142 2
E154758142 3
5154758144 4

Question Number : 37 Question Id : 6154752088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following two sets. Set I lists the names of states. while Set II indicates state

specific missions.

(a)
(b)
(c)
(d)

Set I
Andhra Pradesh
Gujarat
Maharashtra

Rajasthan

(1)
(11)
(111)

(1v)

Set II
Mukhya Mantri Jal Swavalamban Abhivan
Jalvukt Shivar Abhivan
Neet:1 Samrakshana Udvamam

Sujalam Sufalam Jal Abhivan

Select correct answer from the options given helow :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(a)-(11), (b)-(1). (¢)-(1v). (d)-(111)
(a)-(111). (b)-(1v). (c)-(1). (d)-(1)

E154758145. 1
E154758146 2
E1547558147 3
5154755145 4

Question Number : 37 Question Id : 6154752088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TeAfatad 21 521 1 gifed itay| T2.1 § T4 % 919 311 3201 § = fafse whem () i g
071 211
(a) 319 929 (1) HEIH I e SAhEE
(b) T (1) eI Sal ANEH
(c) THEFTE (ii1) T TEeq 3=my
(d) TSEIH (iv) HSH TFAH T A=
Tefaiad @%ed] 8§ T T2l 301 &1 994 Fil<0
(1) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-{1)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1w). (c)-(11). (d)-(1)
Options:

E154755145. 1



E154758146 2
61547558147 3
5154755145 4

Question Number : 38 Question Id : 6154752089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Average nolse levels in heavy traffic zones in major cities in India are generally in which of
the following ranges of noise levels?

(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options:

E1547551459. 1
E154758150 2
6154758151 3
6154758152 4

Question Number : 38 Question Id : 6154752089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qd % @2 W2 4 T AGEE &9 0 A0 A w9 A9 38 1 eiaigd 1 O B el il F 9w
(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA

Options:

61547551459 1
6154752150 2
E154758151. 3
E154758152 4

Question Number : 39 Question Id : 6154752090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Montreal Protocol refers to

(1) Cooperation among UN member countries to combat climate change

(2) Phasing out the consumption and production of ozone depleting substances
(3) Ensuring environmental sustainability

(4) Safeguarding societal quality of life worldwide

Options:

BE1547558153. 1
6154758154 2
E154758155 3
E154752156. 4

Question Number : 39 Question Id : 6154752090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(2) AT 1 &0 3 9T 92191 F 32T H1T @99 =0 0EE B9 O OOH HE
(3) TR AGEOE HTEd H
(4) 9 Tava 1 SEa = w2

Options:

£154755153 1
6154758154 2
6154758155 2
6154758156 4

Question Number : 40 Question Id : 6154752091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which category Cochin International Airport has been conferred. the UN's Champion of
the Earth Award?

(1) Policy Leadership (2) Entrepreneurial Vision
(3) Science and Innovation (4) Inspiration and Action
Options:

E154758157. 1
E154758158. 2
5154758159 3
E1547558160. 4

Question Number : 40 Question Id : 6154752091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHA FTIEHE 2R 312 F1 FeAfafga § 4 g 9o § 9% g 1 <Ha aiF g e e 5 mn
37

(1)  fifoma 5= (2) AW gfasq gfe
(3) o =i FEr (4) I i ety
Options:

E154758157. 1
6154758158 2
E154758159. 2
E1547538160. 4

Question Number : 41 Question Id : 6154752092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following modes of admission was prevalent in Nalanda University in anclent
times?

(1) Entrance Examination (2) Interview
(3) Good Academic Credentials (4) Peer Discussion



Options:

6154758161 1
154758162 2
154758163 2
6154758164 4

Question Number : 41 Question Id : 6154752092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TAAHTA 0 ATl 99 Taanel 0 g 4 9 F5 = 7997 fatg s1aare =7

(1) 999 FHan (2) TETFR
(3)  IW S gEE (4) TEEAT T
Options:

E154755161. 1
6154758162 2
E154758163. 3
E154758164. 4

Question Number : 42 Question Id : 6154752093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What are the current challenges in the field of higher education in India?

(1) Expansion

(11) Equity

(m) Funds

(1v) Examination Reforms
(v) Excellence

(v1) Entrance Examinations

Select correct answer from the options given below :

(1) (1). (1) and (v1) (2) (1), (1) and (1v)
(3) (11). (1v) and (vi1) (4) (1). (1) and (v)
Options:

BE154758165. 1
E154r758166. 2
E154758167. 3
6154752168 4

Question Number : 42 Question Id : 6154752093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A § =t e & & § adne 1 g 87

(1) =

(11) AT
(i) T

(iv) T gYr
(v)  3chEdl

&

(vi) o] JEET

e Tou U fasedl § 9 @ 3 9HT

(1) (@), (i) 3T (vi) (2) (i), (iii) 37 (iv)
(3) (1i1). (iv) 3T (vi) 4) (1), i) 31 (v)
Options:

E1547558165. 1
E154758166. 2
E154758167. 3
61547581658 4

Question Number : 43 Question Id : 6154752094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following emphasized that education needs to be managed 1n an atmosphere of
utmost intellectual rgour. zeriousness of purpose and of freedom essential for imnovation
and creativity?

(1) National Policy on Education—19683

(2) National Policy on Education—1986

(3) NITI Aavog-Three Year Action Agenda (2017-18 to 2019-20)
(4) Draft National Education Policy—2019

Options:

£154755169 1
6154758170, 2
6154758171, 3
6154758172 4

Question Number : 43 Question Id : 6154752094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154758169 1
6154758170 2
6154758171, 3
6154758172 4

Question Number : 44 Question Id : 6154752095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the following, i1dentify the organisation that provides a common platform to all
universities including institutions of national importance :

(1) University Grants Commission
(2) Aszociation of Indian Universities
(3) Distance Education Council

(4) Indian Institute of Advanced Study

Options:

6154758173 1
6154758174 2
6154758175 3
154758176 4

Question Number : 44 Question Id : 6154752095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758173 1
6154758174 2
E154758175 2



E154758176 4

Question Number : 45 Question Id : 6154752096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Creation of World-Class Universities requires :

(1) Autonomous governance

(11) Focused funding

(m1) Control over evaluation mechanism
(1v) Independent outcomes

(V) Appointment of staff by the State Machinery

Select correct answer from the option given below :

(1) (1), (11) and (v) (2) (1), (1) and (v)
(3) (111). (1v) and (v) (4) (1), (1) and (av)
Options:

B154758177. 1
6154758178 2
61547538179 3
6154752180 4

Question Number : 45 Question Id : 6154752096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B154758177. 1
6154758178 2
6154752179 3
E154758180. 4

Sub-Section Number: 4
Sub-Section 1d: 61547595
Question Shuffling Allowed : Yes

Question Id : 6154752097 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



ERead the following passage carefully and answer questions from 46-50.

Intra-industry trade arises in order to take advantage of important economies of scale 1n
production. That 1s. international competition forces each firm or plant in industrmal
countries to produce only one. or at most a few. varleties and styles of the same product
rather than many different varieties and styles. This 1s crucial in keeping unit costs low.
With few varieties and stvles. more specialised and faster machinery can be developed for a
continuous operation and a longer production run. The nation then imports other varieties
and stvles from other nations. Intra-industry trade benefits consumers because of the wider
range of cholces. 1.e.. the greater variety of differentiated products. available at the lower
prices made possible by economies of seale 1n production. Because of this. large welfare gains
arise from the abilitv of consumers to greatly increase the variety of goods that theyv can
purchase through trade. The 1mportance of intra-industry trade became apparent when
tariffs and other obstructions to the flow of trade among members of the European Union. or
common market were removed 1n 1958. It was found that velume of trade surged but most of
the increase involved the exchange of differentiated products within each breoad industirmal

classification.

Sub questions

Question Number : 46 Question Id : 6154752098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 1mpact of international competition on intra-industry trade can be seen 1n

(1) the availlability of wide varieties of products
(2) the limited varieties of the same product
(3) adverse effect on industrial production
(4) restrictive advantages of production
Options:

E1547558181. 1
6154758182 2
6154758182 3
6154758154 4

Question Number : 47 Question Id : 6154752099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mass production of a few varieties of products will result in

(1) low cost of unit
(2) advantage to industrial economies of scale
(3) benefits to the customers of important economies
(4) increased cost of production
Options:

£154758185. 1
E154758186. 2
E154758187. 3
E154758188. 4

Question Number : 48 Question Id : 6154752100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Development and use of specialised machinery will lead to

(1) more varieties of products (2) decreased consumer welfare
(3) 1import of varieties of product (4) hindered intra-industry trade
Options:

51547581859 1
6154758130 2
E1547538131. 3
E154758192. 4

Question Number : 49 Question Id : 6154752101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lower product price means

(1) continued production run

(2) absence of choice

(3) increase 1n trade information exchange
(4) imcreased consumer purchasing power
Options:

E1547581392. 1
61547581394 2
E154758195 3
E154758196. 4

Question Number : 50 Question Id : 6154752102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the consequence of removal of barriers to the flow of trade 1n European Union?

(1) Sluggish intra-industry trade

(2) Flow of uniform products

(3) Spurt in trade volume among member states
(4) Emphasis on differentiated products

Options:

6154758197 1
6154758198 2
6154758199 3
6154758200, 4

Question Id : 6154752097 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label @ Comprehension
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Sub questions

Question Number : 46 Question Id : 6154752098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758181,
6154758182,
6154758183
154758184,

L e

Question Number : 47 Question Id : 6154752099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758185 1
6154758186, 2
6154758187, 3
6154758188 4

Question Number : 48 Question Id : 6154752100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E154758189. 1
6154752130, 2
E1547581491. 3
E154758192. 4

Question Number : 49 Question Id : 6154752101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

BE1547558193. 1
5154758194 2
E154758135 3
61547581396 4

Question Number : 50 Question Id : 6154752102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154758197. 1
6154758198 2
6154758199 3
E154758200. 4

PART 11 Psychology

Section Id : 61547530
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 61547596
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154752103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Phi-Phenomenon 1s best seen between whach of the following time intervals?

(1) 50 to 350 milliseconds (2) 110 to 320 malliseconds
(3) 30 to 200 millizseconds (4) 215 to 375 milliseconds
Options:

E154758201. 1
E154758202. 2
E154758203. 3
E154758204, 4

Question Number : 51 Question Id : 6154752103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547582011
6154758202 2
E154758203. 3
E154758204 4

Question Number : 52 Question Id : 6154752104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Dr. X' as a therapist felt a sense of complete understanding towards a father client, whose
children behaved exactly the way his own children used to behave. This is

(1) Empathy (2) Jumping to conclusion
(3) Warmth and genuineness (4) Sympathy
Options:

BE154758205. 1
B154758206. 2
E154758207. 3
6154753208 4

Question Number : 52 Question Id : 6154752104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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5154758205 1



E154758206. 2
B154758207. 3
E154758208. 4

Question Number : 53 Question Id : 6154752105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following would be the best method for studving the relative contribution of
heredity and environment?

(1) Comparing identical and fraternal twins reared together

(2) Comparing identical and fraternal twins reared apart

(3) Comparing siblings reared together and reared apart

(4) Comparing identical and fraternal twins : half of whom have been reared apart
Options:

51547582059 1
6154758210 2
6154758211 3
E154758212 4

Question Number : 53 Question Id : 6154752105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
154758209 1
6154758210, 2
154758211 2
154758212 4

Question Number : 54 Question Id : 6154752106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the most common anti-obesity hormone?

(1) Leptin (2) Orexin
(3) Insulin (4) Ghrelin
Options:

E154758215. 1
E1547558214. 2
E154758215 3



E154758216. 4

Question Number : 54 Question Id : 6154752106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547582131
6154758214 2
E154758215 3
E154758216. 4

Question Number : 55 Question Id : 6154752107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Y has ‘concrete experience’ and a ‘reflective observation’ as dominant learning abilities,
views concrete situations from different viewpoints, has broad cultural interests and is
imaginative and emotional. His experiential learning style is

(1) Assimilating style (2) Diverging style
(3) Converging style (4) Accommodating style
Options:

B154758217. 1
6154758218 2
6154758219 3
E154758220. 4

Question Number : 55 Question Id : 6154752107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B154758217. 1
6154758218 2
61547538219 3
E154758220. 4

Question Number : 56 Question Id : 6154752108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following problem solving technique. involves the analysis of difference between
the current situation and the desired set goal. then doing something to reduce this
difference?

(1) Heuristics (2) Subgoals
(3) Means and analysis (4) Brain storming
Options:

61547582211
E154758222 2
E154758223. 3
E154758224. 4

Question Number : 56 Question Id : 6154752108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547582211
G154758222 2
E154758223 3
E154758224. 4

Question Number : 57 Question Id : 6154752109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Using Hull's theory, Taylor conceptualized that anxiety is an emotionally based drive and
therefore. high anxious subjects on Taylor's Manifest Anxiety Scale (MAS) should be
conditioned faster than the low anxious subjects. The study verified the hypothesis. This
provides evidence for

(1) Concurrent validity of MAS (2) Construct validity of MAS
(3) Convergent validity of MAS (4) Lack of validity for MAS
Options:

E154758225. 1
E154758226. 2
B154r58227. 3
E154758228. 4

Question Number : 57 Question Id : 6154752109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547582251
E154758226 2
E154758227. 3
E154758228. 4

Question Number : 58 Question Id : 6154752110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Imaginal disputation by using the ability of chient to imagine 1= a method of

(1) REBT (2) Existential Confrontation
(3) Gestalt therapy Confrontation (4) Mindfulness
Options:

B1547582259. 1
6154758230 2
6154758231, 3
E154758232. 4

Question Number : 58 Question Id : 6154752110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547582291
E154758230 2
E154758231. 3
B154758232. 4

Question Number : 59 Question Id : 6154752111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



What of the following was described by R.B. Cattell using S-Technique of Factor Analysis?

(1) Differential effects of stimulus situations on personality
(2) Group formation
(3) Social interactions
(4) Individual differences among people
Options:

6154758232 1
E154758234. 2
E154758235 3
E154758236. 4

Question Number : 59 Question Id : 6154752111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
6154758233 1
6154758234 2
£154758235 2
6154758226, 4

Question Number : 60 Question Id : 6154752112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

A psychological currency that permits deviation from the group is called

(1) Conformity (2) Obedience
(3) Idiosyncracy credit (4) Compliance
Options:

E154758237. 1
6154758238 2
E154758239. 3
E154758240. 4

Question Number : 60 Question Id : 6154752112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

BE154758237. 1
6154758238 2
E154758239 3
6154758240, 4

Question Number : 61 Question Id : 6154752113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a newly developed adjustment inventory using Yes/No' format, there were some positively
worded items (Yes' response indicating adjustment) and some negatively worded items
(‘No’ response indicating adjustment). Test developers follow this practice to offset the effects

of

(1) Acquiescence (2) Faking
(3) Random responding (4) Socially desirable responding
Options:

E154758241. 1
E154758242. 2
E154758243. 3
E154758244. 4

Question Number : 61 Question Id : 6154752113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547582411
G154758242 2
6154758242 3
E154758244. 4

Question Number : 62 Question Id : 6154752114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is the explanation of Premack principle?

(1) A primary reinforcement is thought of being related to an organism’s survival
(2) A secondary reinforcer acquires reinforcing value because of pairing with primary
reinforcer
(3) All responses are potential reinforcers
(4) More frequently occurring activity can be used to reinforce the activity that occurs
less often
Options:

E154758245 1
B154r58246 2
E154758247. 3
E1547538248. 4

Question Number : 62 Question Id : 6154752114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753245, 1

6154758246, 2

6154758247 3
6154758248 4

Question Number : 63 Question Id : 6154752115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which part of brain is responsible for transferring information from Short Term Memory to

Long Term Memory?
(1) Amygdala

(2) Hypothalamus
(3) Hippocampus

(4) Cerebellum
Options:

E154758249 1
6154758250 2
E154758251. 2
E154758252 4



Question Number : 63 Question Id : 6154752115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547582459. 1
6154758250 2
6154758251 3
E154758252. 4

Question Number : 64 Question Id : 6154752116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to definition theory, for the development of a concept of an OFFICE, one must :

(1) construct an ideal office.
(2) visit various offices.
(3) list all essential features of an office.
(4) transform a room into office.
Options:

5154758253 1
6154758254 2
6154758255 3
E154758256. 4

Question Number : 64 Question Id : 6154752116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

154758253 1
E154758254 2
6154758255 2
6154758256, 4

Question Number : 65 Question Id : 6154752117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Read the following conversation and choose the best option
X — What time 1s 1t?

Y — I think it 1s about 9.30 A.M.

This 1=
(1) Adult-adult transaction
(2) Adult-adult complhimentary transaction
(3) Child-adult comphmentary transaction
(4) Child-adult transaction

Options:

B154758257. 1
6154758258 2
6154758259 3
E154758260. 4

Question Number : 65 Question Id : 6154752117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154758257, 1
6154758258, 2

E154758259. 3
E154758260. 4

Question Number : 66 Question Id : 6154752118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Feminist theory helped in

(1) dealing with gender inequality
(2) understanding sexual preferences
(3) human growth and development
(4) gender issues

Options:

154758261 1
E154758262. 2
6154758263, 2
6154758264 4

Question Number : 66 Question Id : 6154752118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E154758261. 1
B154758262. 2
E154758263. 3
E154758264. 4

Question Number : 67 Question Id : 6154752119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is excluded from Berkowitz's frustration — aggression hypothesis?

(1) Frustration always leads to ageression.
(2) Social rules may inhibit aggression.
(3) Frustration may result in other behaviour than aggression.
(4) Cognitive factors can overside aggression.
Options:

5154758265, 1
E154758266. 2
E154758267. 3
E154758268. 4

Question Number : 67 Question Id : 6154752119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
154758265 1
6154758266, 2
154758267 3
154758268 4

Question Number : 68 Question Id : 6154752120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Eleven rural. eleven semiurban and eleven urban students were thoroughly interviewed and
they were ranked (using a pooled sample of N = 33) for their communication skills. Which
one of the following statistical technique would be appropriate to explore groupwise
difference in communication skills?

(1) Friedman’'s test
(2) Kruskal Wallis H test
(3) Rank difference correlation

(4) One-way ANOVA for independent samples

Options:

6154758269 1
6154758270, 2
£154758271. 2
E154758272. 4

Question Number : 68 Question Id : 6154752120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TE OTHO, TARE 99 TE ST TINE IEd S A lfﬁa;.q T SRR =9 T 3% ST U9 FieE F

fem (33 it 9= % amfzd 994 F TeR W) FHEE (T §) T | Fefatad 3 9 aueer i o

+ - . i~ oy ~ ~ -, i~ R
HHEAT S U1 A F A0 e aiferdE a5 T R o w2

(1) Frsig 7

(2)  FEFA-ANH T 7
k) T ST

(3) TF TSFH FIEAIH

(4) T R 3g A 3 sEm
Options:

61547582691

6154758270 2

6154758271 3

6154758272 4

Question Number : 69 Question Id : 6154752121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The bipolar adjectives scale ‘Fast-slow’ in Osgood semantic differential would belong to

(1) Evaluative factor (2) Potency factor
(3) General factor (4) Activity factor
Options:

BE154758273. 1
B154r58274 2
6154758275 3



BE154758276. 4

Question Number : 69 Question Id : 6154752121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
r,-“mf-l\g Eﬁ :ﬂﬁj Hﬁ[ (ﬁfﬁﬁaﬁ) hﬁ?fla- ﬁ- rrgns_}ﬁr_\[ hﬁq‘q‘l‘]‘[ m‘q:ﬁ iaacla_%ﬂ_q.l.u a:_f EjEi?:;[ .ﬁ.-l -, r:. ?

(1)  goATwF FF (2) T FH
(3) HHI Rl (4) HiFAT FF
Options:

BE154758273. 1
B154r58274 2
6154758275 3
E154758276. 4

Question Number : 70 Question Id : 6154752122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In guota sampling. the probability of each element of population being included in the
sample

(1) 15 equal to sampling fraction

(2) can be specified 1n advance

(3) cannot be specified in advance

(4) 13 % where K iz the number of strata
Options:

E154758277. 1
E154758278. 2
BE154758279 3
E154758280. 4

Question Number : 70 Question Id : 6154752122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
6154758277 1
6154758278 2



E154758279. 3
E154758280. 4

Question Number : 71 Question Id : 6154752123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following school of Buddhism focuses on collective freedom from suffering and
feeling the ways of enlightment?

(1) Nirvana (2) Theravada Buddhism
(3) Mahayana Buddhism (4) Vajrayana Buddhism
Options:

E154758281. 1
E154758282. 2
E154758283. 3
E154r58284. 4

Question Number : 71 Question Id : 6154752123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E154758281. 1
BE154758282. 2
B154758283. 3
6154758284 4

Question Number : 72 Question Id : 6154752124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The three psychologists who illustrated the diversity of approaches to functional psychology

at Columbia were

(1) Harvey Carr, James Mckeen Cattell and E.L.. Thorndike
(2) James Angell, Harvey Carr and James Mckeen Cattell
(3) E.L. Thorndike, R.S. Woodworth and James Angell

(4) James Mckeen Cattell. E.L. Thorndike and R.S. Woodworth
Options:
154758285 1
6154758286 2
E154758287. 3
E15475E250. 4



Question Number : 72 Question Id : 6154752124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
6154758285 1
E1547EE286. 2
6154758287, 2
6154758288 4

Question Number : 73 Question Id : 6154752125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following statement is true regarding the relationship of test length with

reliability and validity?

(1) As test length increases. only reliability improves.
(2) As test length increases, only validity improves.
(3) As test length increases, neither reliability nor validity improves.

(4) As test length increases, both reliability and validity improve.

Options:
154758289 1

E154758290 2
E154758291. 3
B154758292. 4

Question Number : 73 Question Id : 6154752125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E154758289. 1
6154758290 2
6154758291 3
E154758232. 4

Question Number : 74 Question Id : 6154752126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Decision Stage Model, how many stages are comprised in taking a decision?

(1) Three (2) Four
(3) Five (4) Six
Options:

6154758293 1
6154758234 2
E1547582495 3
E154758296. 4

Question Number : 74 Question Id : 6154752126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758293 1
E154758294, 2
E154758295 3
B154758296. 4

Question Number : 75 Question Id : 6154752127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following are the levels of processing proposed by Craik and Lockhart?

(1) Symbolic, Semantic and Acoustics

(2) Physical, behavioural and Acousties

(3) Behavioural. Acoustics and Semantic

(4) Physical. Acoustics and Semantic
Options:

61547582971
E154758298. 2
E154758299 3
E154758300. 4



Question Number : 75 Question Id : 6154752127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) TarReaE (Symbolic), 31TeHF (Semantic) U9 =09 (Acoustic)
(2)  YifdF, =AasiEH U9 SEAeE

(4)  HifdF, SA=TEE TS AYHE
Options:
61547582971
154758295 2
6154758299 3
E154758200 4

Question Number : 76 Question Id : 6154752128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which device is used for the expression of different letters of a word?

(1) Acousties 2)  Acronyms
(3) Key word system (4) Clustering
Options:

E154758301. 1
B154758302 2
B154758303. 3
6154758304 4

Question Number : 76 Question Id : 6154752128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T (Acoustics) (2) ToHTE (Acronyms)
(3) qi=g 910 7514 (Key Word System) (4) 97 (Clustering)
Options:

51547582011
6154758302 2
6154753303 3
E154758304, 4

Question Number : 77 Question Id : 6154752129 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following explains the tendency of traits that are encoded on the same
chromosome to be inherited together?

(1) Mitosis (2) Melosis
(3) Linkage (4) (Gene expression
Options:

E154758305. 1
E154758306. 2
E154758307. 3
E154758308. 4

Question Number : 77 Question Id : 6154752129 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ftefga 5 9 731 3ffer o i 39 79 (tendency of traits) i =AW FHAT 7 T[N FHH FHHEAW W
TF -1 9T 7 F A0 Feg B A 7

(1)  =mEfEE (gl fausm) (2) T (g FeeE)
(3) s (TaT=H) (4) S AHAT (exprezsion)
Options:

5154758305 1
E154758306. 2
6154753307, 3
E154758308. 4

Question Number : 78 Question Id : 6154752130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Confrontation” in Gestalt therapies involves

(1) What and why questions (2) What and how questions
(3) How and why questions (4) What. how and why questions
Options:

E154758309. 1
E1547583100 2
6154758311 3
E15475831Z2 4

Question Number : 78 Question Id : 6154752130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154758309. 1
61547538310 2
E154758311. 3
E154758312 4

Question Number : 79 Question Id : 6154752131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Descartes argued that body and mind interact. According to him which is the site for this

interaction?

(1) Pancreas Gland (2) Pineal Gland

(3) Pituitary Gland (4) Adrenal Gland
Options:

E154758313. 1
6154758314 2
E154758315 3
E154758316. 4

Question Number : 79 Question Id : 6154752131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 7T U (Pancreas Gland) (2) =9 U4 (Pineal Gland)
(3)  vewHE O (Pituitary Gland) (4) #ATgg®m 74 (Adrenal Gland)
Options:

E1547558213. 1
6154758314 2
6154758315 3
E154758316. 4

Question Number : 80 Question Id : 6154752132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Value of behaviour to the organism, its evolutionary history, and its causation in terms of
stimulus. hormonal and neurclogical events” has been area of study of which of the

following?

(1) Evolutionary psychology (2) Psychoanalysis
(3) Ethology (4) Instinct psychology
Options:

BE154758317. 1
6154758318 2
6154758319 3
6154753320 4

Question Number : 80 Question Id : 6154752132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) rmEETEl (Evolutionary) TATERTH (2) wAIfETeET (Psychoanalysis)
(3) #AMEE 7MHE (Ethology) (4) afv_-lT FiEs ™ (Instinet Psychology)
Options:

61547533171
E1547583158. 2
E154758319 3
E154758320. 4

Question Number : 81 Question Id : 6154752133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which part of neuron is covered by Myelin sheath?

(1) Whole of Axon (2) Parts of Axon
(3) Whole of Dendrite (4) Parts of Dendrites
Options:

51547583211
E154758322 2
E154758323 3
6154758324 4

Question Number : 81 Question Id : 6154752133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =99 atrweE (veEE) (2) R (TEEE) S A
(3) =g giEaw (Dentrite) (4) FiE=F =1 FD 9
Options:

51547583211
6154758322 2
6154758322 3
E154758324. 4

Question Number : 82 Question Id : 6154752134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If you move a book from your desk to a shelf, you know the form of book is not changing.
It may be because of which of the following?

(1) Linear perspective (2) Relative size
(3) Shape constancy (4) Size constancy
Options:

5154758325 1
G154758326 2
E154758327. 3
E154758328. 4

Question Number : 82 Question Id : 6154752134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) = gl (2)  HHTE 19
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Options:

E154758325. 1
BE154758326 2
B154r58327. 3
6154758328 4

Question Number : 83 Question Id : 6154752135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Beta endorphin i1s mobilized from Pituitary Gland during stress in approximately same
quantities as

(1) Adreno corticotropic hormone (ACTH)
(2) Corticotropin releasing factor (CRF)
(3) Epinephrine
(4) Dopamine

Options:

6154758329 1

154758220 2

B154758331. 3
6154758332 4

Question Number : 83 Question Id : 6154752135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g9 &1 feafa 9 ved™ ofy (Pituitary Gland) @ Feaq ame sfier vSrfe ooy 36t 9 3 e

(1) UstH=RIEITE sRaH (ACTH)
(2)  FRAFRNEA Tt F#1 (CRF)
(3) o (Epinephrine)

(4) 2mMmTET (Dopamine)
Options:
6154758329 1
6154758330, 2
61547583321 3
6154758332 4

Question Number : 84 Question Id : 6154752136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The phenomenon where by-standers assume that nothing is wrong in an emergency as no

one looks concerned is called

(1) Diffusion of responsibility
(2) Pluralistic ignorance
(3) Prosocial behaviour

(4) By-stander effect

Options:
6154758333 1
£154758334 2



E154758335 3
B1547583356. 4

Question Number : 84 Question Id : 6154752136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758333 1
6154758334 2
6154758335 3
E154758336 4

Question Number : 85 Question Id : 6154752137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Client : “I really don't have much to say (tapping foot).”

Counsellor : “Do you know you are tapping your foot?”

Client : “No. I guess [ am feeling some impatience (pause) Even more some
confused......

Here the counselor is

(1) Trying to create awareness in client.

(2) Being a little too harsh.

(3) Making an effort to understand client’s behaviour at deeper level.
(4) Tryving to create both awareness and deeper understanding.
Options:

BE154758337. 1
6154758338 2
5154758339 3
6154758340 4

Question Number : 85 Question Id : 6154752137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758337, 1

6154758338, 2

6154758339, 3

6154758340, 4

Question Number : 86 Question Id : 6154752138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For becoming a good basketball player one must use

(1) Algorithms 2) Heuristies
(3) Concepts (4) Prototypes
Options:

E154758341. 1
E154758342 2
5154758343 3
51547558544 4

Question Number : 86 Question Id : 6154752138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) Fetata (Algorithms) (2) TAHENTH (Heuristics)
(3) HF=0 (Concepts) (4) siEmEae (Prototypes)
Options:

E154755341. 1
E154758342 2



E154758343. 3
51547558544 4

Question Number : 87 Question Id : 6154752139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following consists of elaborative rehearsal?

(1) Remembering of information to maintain it in STM

(2) Transferring information from STM to LTM

(3) Holding information for brief period of time while being used

(4) Ability to focus on only one stimulus

Options:

6154758345 1
6154758346, 2
6154758347 3
6154758348 4

Question Number : 87 Question Id : 6154752139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

£154758345 1
154758346, 2
6154758347, 2
6154758348 4

Question Number : 88 Question Id : 6154752140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the odd one for pattern of sympathetic activation during emotions

(1) Increased heart rate

(2) Pupil constriction

(3) Increased breathing rate
(4) Lowered skin resistance

Options:

6154758349 1
6154758350 2
£154758351. 2
E154758352 4

Question Number : 88 Question Id : 6154752140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 4 | 5 F SR FEEE! (Sympathetic) 3TR9 i 9gia § famm = =19 =

(1) | Tjw'fr' 249 T4 (Increased heart rate)

(2) Iaeil 1 TF=4 (Pupil constriction)

[}

{(3) =zl ??"Sr’ FaTH T (Increased breathing rate)

. ]

(4) T 75 w=E 7 (Lowered skin resistance)

Options:

6154758349 1
£154758350. 2
154758351, 2
6154758352, 4

Question Number : 89 Question Id : 6154752141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In terms of psychoanalytic therapy. the means of keeping the unconscious conflict intact;

thereby impeding any attempts to probe into real sources of personality problems is

known as

(1) Repression
(2) Suppression
(3) Denial

(4) Resistance



Options:

6154758353 1
£154758354 2
£154758355 2
6154758356, 4

Question Number : 89 Question Id : 6154752141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T 3991 (9991) & @99 H F=le #Ad52 (Uncouscious Confliet) &1 SH1T Wa4 & HIEAH, HAdd:

SAfhcd o1 FAAIEA] o ARAlE Adl &) 9= i & (el Al H] S1h] Te a1, F71 Fwaeldl 8 ¢

(1) ZA4 (Repression)
(2) oo (Suppression)
(3) Fe=FA (Denial)

(4) ufarg (Resistance)
Options:

1547583551

6154758354 2

E154758355 3

E154758356, 4

Question Number : 90 Question Id : 6154752142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

Which of the following norms suggest people that they ought to behave?

(1) Social responsibility norms
(2) Reciprocity norms

(3) Prescriptive norms

(4) Proscriptive norms

Options:

BE154758357. 1
6154758358 2
5154758359 3
6154758360, 4

Question Number : 90 Question Id : 6154752142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Fafafaa 9 O 8 99 |0 &1 98 991 & (6 39 FH SFFER 91 F1E 7

(1) TS 3Taacd 994  (Social responsibility norm)

(2) TRl 919% (Reciprocity norm)

(3) NIRRT (Prescriptive norm)

(4) 94Te9% 7% (Proscriptive norm)
Options:

6154758357, 1

6154758358 2

6154758359, 3

6154758360 4

Question Number : 91 Question Id : 6154752143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Generational-digital or Gen-D factor

(a) pertains to reversal of power hierarchy in terms of digital technology

(b) pertains to imparting knowledge downward to vounger generation

(c) calls for psychoeducation of parents and care givers on digital technology usage
(d) calls for the adolescent psychoeducation on digital technology usage

Choose the correct option

(1) Only (a)
(2) Only (b)
(3) (a) and (e)

(4) (b) and (d)

Options:

6154758361 1
6154758362, 2
6154758363 3
6154758364 4

Question Number : 91 Question Id : 6154752143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0



ST -TSsied’ AYa <H-31

(a) EEIEE B IEIUES (Technology) & Tg9 T 7tk UoFH & U@ o Heiyd 2|

(by T I FN FH F s R 3 gafed 2

(c) OraT-Toa1 & AT99==] & (Ssiea caareisl & YIN Ta4] T F A=F9Idl sarar 21

(d) (el daldial & YanT gai fomad & Il:ﬁfﬂ_*i F1 AFTIFAT a1l %|

S § Fal fasey =4 ¢
(1) &= (a)

(2)  Faa (b)

(3)  (a) R (c)

(4)  (b) HR (d)
Options:
61547583611
6154758362 2
6154758363 2
E1547EE364 4
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Correct Marks: 2 Wrong Marks: 0



According to Goleman, “Management of Emotions” component of Emotional intelligence
includes

(a) Handling feelings, so that they are appropriate.

(b) Ability to soothe oneself.

(c) Ability to shake off rampant anxiety. gloom or irritability.

(d) Recognising feeling as it happens.

Choose the correct option

(1) (a). (b) and (d) enly
(2)  (b). (c) and (d) only
(3) (). (b) and (c) only

(4) (a), (b). (¢) and (d)

Options:

6154758365 1
154758366 2
E154758367. 2
6154758368, 4

Question Number : 92 Question Id : 6154752144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A & S0 T g (emotional intelligence) & T2& TT & Ta-9 § WA 241 &

(a)  HIEAH] ® TE@-TEE (TEEE) qI 9 3fEd S=e § 5|

(b) YT AT FI I WA I FEAT

(c) TS A1, E9E A1 HSEEEe F g F Sl FHda

(d) T AT 2, 9 E HE] R A

Tl ferehed ol ﬂﬁ :

(1) &= (a). (b) 317 (d)
(2) =4 (b). (c) F (d)
(3) e (a). (b) FH ()

(4) A4 (a), (b). (c) AR (d)
Options:
6154755365 1
E15475E3EE. 2
E15475H367. 3
61547553608 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Double standards of mental health with regard to adult females —

(a) depicted adult female behaviour as less socially desirable and healthy.

(h) had set up barriers against the advancement of women in non traditional roles.

(c) pertain to the changing dual personality of women in the current scenario.

(d) pertain to the identification of the general standards of healthy behaviour with men
only.

Choose the correct option

(1) Only (d) is correct

(2) Only (c) 1s correct

(3) Only (a) and (b) are correct
(4) (a). (b) and (c) are correct

Options:

6154758369 1
6154758370 2
£154758371. 2
6154758372, 4

Question Number : 93 Question Id : 6154752145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THEF AlecT#Al & Ted 1 OHGH =R & ael A6 —

(a) ¥ T AfecT =EER F OIS T § 0 A4 T T g )

(b) 7 T-IRUfie YHHIHAT T AW 94 H U o U aremd 2o =

(c) T giET § AfeeiHH ] & docld ced SAlhed § Ha{9d 21

(d) A IEI o WY T FEER & HH A % TEAE 9 G449 2

(1) =9 (d) ¥=1 &
(2)  wad (c) TEl B
(3)  &ad (a) R (b) Tl &

@ (), (b) F (c) I =
Options:
6154758369 1
E1547EE370 2
6154753371 3
6154758372 4

Question Number : 94 Question Id : 6154752146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following are the two major symptoms of Alzhiemer’s disease?

(1) Neurofibriliary tangles and Amyloid plaques
(2) Collateral sprouting and cerebral ischemia
(3) Amyloid plagues and cerebral ischemia
(4) Neurofibriliary tangles and collateral sprouting
Options:
6154758373 1
£154758374 2

6154758375 3
E154758376. 4
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Correct Marks: 2 Wrong Marks: 0

FEAREd § 9 %F 9 Hoagad 10 % 5 999 A9 & ¢

(1)  =EFESIE] 2708 H7 THEAES =
(2) FeAele] TSI ST Oige 0 19

(3) UHTATAS WA AT g 35

(4)  FREMFEEEHE SeE SR Feetd e
Options:
6154758373 1
6154758374, 2

E154758375 3
B154758376. 4

Question Number : 95 Question Id : 6154752147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the following conversation and choose the correct option

X:“I am so hungry!I am like way starving”

Y : “You might consider a small nutritional snack to suppress your appetite”
This 1s

(1) Adult-adult and child-child interaction respectively

(2) Complimentary transactions

(3) Child-child and adult-adult, crossed transactions respectively

(4) Child-adult and adult-child crossed transactions respectively

Options:

154758377 1
6154758378 2
6154758379 3
6154758380, 4

Question Number : 95 Question Id : 6154752147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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(1) FHI: FATE—ATAF HAN STl —aTddF gae

(2) PLEa I e (Complimentary Transactions)

(3) FHI: AT —ATAF HN T —FT5F A G=9971 (Crossed Transactions)

(4) FAI: AAF—TAF AR TIF-ATAF Al TT98N
Options:
6154758377 1
6154758378, 2
6154758379 3
6154758330, 4

Question Number : 96 Question Id : 6154752148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to social impact theory the effect of majority on minority rests on three of following

factors

(a) Majority's strength
(b) Minority's will

(c) Immediacy

(d) Number of persons

Choose the correct option :

(1) (a). (b) and (c)
(2) {a). (c) and (d)
(3) (b). (¢) and (d)

(4) (b). (d) and (a)

Options:
6154758381 1
6154758382, 2



E154758383. 3
E154758584. 4
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mj:l-l-h—_ﬁ T :-'F 'El:,lq?.-;]:i' _'-T: .‘:,.414__“4 .-gF',I.{Ll}J_i_h =hl -H':"‘*-H'i-{Ef"-!'4"l LRI Etlﬁ :'-:'[ '_‘i:i:[ _-F,F'_-I';[ mﬁﬁT ﬁ?ﬂé :

—— "
(a)  TEEEEH] il T

(b) -'ﬂ":lq.-]':;q'ﬁm _ﬁf =

(¢)  ToaEal
(d)  =arwAl Fi T
Tl e =4

(1) (a). (b) #I ()
(2)  (a). (¢) 31K (d)
(3) ibLtC]BﬁTtd}

(4)  (b). (d) # (a)
Options:
6154758381, 1
6154758382, 2
6154758383, 3
6154758384, 4
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Which of the following correctly describe Nafs (Self or ego) in Sufism?

(a) It can be viewed along a continuum
(h) It is not meant to please the God
(e) It refers to negative traits only

(d) It has a potential to function from grossest to highest level

(1) (a) and (¢) are correct (2) (b) and (c) are correct
(3) (b) and (d) are correct (4) (a) and (d) are correct
Options:

E154758385. 1
E154758386. 2
E154758387. 3
6154758388 4

Question Number : 97 Question Id : 6154752149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEEE 9 909 (| A9 J8) F FEfAigd 9§ F9 98 AR Al 8 ¢

(a) 3 Tad e § <@ 91 Tl 2

(b) ST ATEA 399 F] T0d AT A8l 2

-,

(c) T2 Shddl TERIcHE: I &I g9l 2|

(d)  TEE T T UEd W F T F S 2

(1) (a) AR (c)TE = @) (b) 3K (c) T &
(3) (b) 3 (d) T (4) (a) AR (d) Tl 7
Options:

E154758385. 1
6154758386, 2
E154758387. 3
E154758388. 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The core emphasis of developmental psychology is represented by which of these sets of

pairs?
(1)
(2)
(3)
(4)

Options:

Individual v/s shared and stability v/s change
Young v/s old and stability v/s change
Individual v/s shared and young v/s old

cross-sectional v/s longitudinal and self esteem v/s self doubt

E154758389. 1
6154758390 2
E154758331. 3
6154758392 4

Question Number : 98 Question Id : 6154752150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR ETE] FAIEEH & "acaqy @l 1 399 & oA I & "1 H S A Sl 27

(1)

(4)

Options:

AT S | AR T a9 TR
IA1 TAM T3 AR TR TAW T

JRANTA (Cross-sectional) 54 (V/s) W@Ea (Longitudinal) R =9aH &9 &=-439

E154758389. 1
6154758390 2
E154758331. 3
6154758392 4

Question Number : 99 Question Id : 6154752151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are the advantages of {MRI over PET scan?

(a)
(b)
(c)

Nothing has to be injected into the body
Provides both structural and functional information of the same 1mage

Produces three dimensional images of activity over the entire brain

Choose the correct option :

(1)
(3)

Options:

Only (a) and (b) (2) Only (a) and (¢)
Only (b) and (c) (4) (a). (b) and (c)

E154758393. 1
E154758394 2



E154758395 3
B154758396. 4

Question Number : 99 Question Id : 6154752151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

PET 4 #i gom1 5 fMRI % =1 FH-%1H § 27

(a) THH I $ E= ec) EE] R E (Injected) EF| T A ='IT-|'[r 7 ‘;"|

(b)  FH (U 7) WATEE 1 HEATEF 91 HEEEF H STHFRA TEE 0 7

(c) T BieF o Tiarara 1 -3 (Three dimensional) TiAfE 300 FaT 2|

T faea o4 -

(1) e (a) =104 (b) (2)  =Fae (a) =11 ic)
(3) A (b) 3 (c) (4) (a). (b) 3 (c)
Options:

E154758393. 1
6154758394 2
6154758395 3
E154758396. 4

Question Number : 100 Question Id : 6154752152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following are the main biases in attribution process?

(a) Fundamental attribution error
(b) Actor-ohserver effect

(c) Situational influence

(d) Self serving bias

Choose the correct option :

(1)  (a). (b) and (c) (2) (a). (b) and (d)
(3) (b), (¢) and (d) (4) (a), (e) and (d)
Options:

E154758397. 1
E1547583898. 2
E154758399 3
51547538400, 4

Question Number : 100 Question Id : 6154752152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AR T 4 9= 790% (biases) FHARgd 4 O #H-%H 4 &7
(a) HifeA® HATT Eﬂ?i

(b)y AT~ THE

(c) uTifEsraehE gaE

(d) E-Teaa JaUE (Self-serving bias)

(1) (a). (b) 3T () (2) (a). (b) AR (d)
(3)  (b). (c) FT () (4)  (a). (c) IR (d)
Options:

51547583971
6154758398 2
6154758399 3
E154758400, 4

Question Number : 101 Question Id : 6154752153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the elements of Language Acquisition Process?
(a) Phonemes
(b) Morphemes

(c) Syntax

(d) Pragmatics

Choose the correct option :

(1) (a). () and (d) only
(2) (b), (¢) and (d) only
(3) (a). (b) and (c) only

(4) (a), (b) and (d) only

Options:
6154758401, 1
6154758402, 2



E154758403. 3
E154758404, 4
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HeTangd 5 | s==] 5 9797 TE0Eieldl 9EHAT & O2F ®H-54 J 27

(a) I E
(b) E9UTH
(c) EIER NI

(d)  a-HAfaeats gl

(1) =3 (a), (¢) T (d)
(2)  F=d (b). (c) T (d)
(3)  FAd (a), (b) T (c)

(4)  Fad (a). (b) T (d)

Options:

6154758401, 1
6154758402, 2
6154758403 2
6154755404, 4
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There are many mnemonic devices to help a person to memorize the lists of words and

vocabulary items. Identify the correct device series

(a) Categorical Clustering
(h) Interactive Images
(c) Recognition

(d) Pegword Svstem
(e) Method of Loci

Choose the correct option :

(1) (a). (b) and (c)
(2) (b). (c) and (d)
(3) {c). (d) and (e)
(4) (a). (b). (d) and (e)

Options:

6154758405, 1
6154758406, 2
6154758407, 3
6154758408, 4
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(a) =i TS

(b) = AR THEN

() UEEH

(d)  TTEE ot

(e) F5F fata

HE e F =T W

(1)  (a).(b) ™ (c)

(2)  (b).(e) T (d)

(3) () (d) TH(e)

(4) (a), (b), (d) TF (e)

Options:

6154755405, 1
6154758406, 2
6154758407, 3
6154758408, 4
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Consider the three types of investigation in psychological research written in alphabetical
order : (a) Controlled laboratory experiments: (b) Ex post facto studies: and (c) Field
experiments. Arrange them in descending order in terms of their ability to control secondary

variance usually

(1) (a), (e), (b)

(2) (a), (b), (c)

(3) (c), (a). (b)

(4) (b). (e). (a)
Options:
6154758409 1
6154758410 2
6154758411 3
6154758412 4
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(1) {a). (e). (b)

(2) (a). (b). (c)

(3) (e). (a). (b)

(4) (b). (c). (a)

Options:

6154758409 1
6154758410 2
£154758411. 2
6154755412 4
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During 1960s Hoffman and others criticised the college entrance examination and other
nationally administered educational tests, and argued that
(a) These favour shrewd and nimble witted

(h) These are over concerned with quality of thought behind it and the expression of skill

than answer
(e) These favor subtle, creative and more profound persons

(d) These carry a bad effect in recognition of merit

Choose the correct options :

(1) only (a) is correct

(2) (a) and (d) are correct
(3) only (e) is correct

(4) (c) and (d) are correct
Options:

515475584131
6154758414 2
6154758415 3
E154758416. 4
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AT 1 ol U9 5 = a1

(a)  TE I UF T GG AN F UE H 2
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(1)  ad (a) 941 7
(2)  (a)#ER (D) T F
(3) wad (c)TE 2

(4)  (c) #W (d) Al 2
Options:
154758412 1
£154758414. 2

E154758415 3
E154758416. 4
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What is the reason of negative voltage of a neuron during Resting Potential?

(Sodium = Na": Potassium = K" ; Chloride = C1™; Organic anions = A7)

(1) Na® and Cl” ions outside the membrane have more negative charge than K™ and
A" ions inside

(2) Na™ and Cl” ions out side the membrane have less negative charge than K™ and
A7 ions inside

(3) Na"and A~ ions outside the membrane have more negative charge than K™ and CI™

ions inside

(4) Na® and A~ ions outside the membrane have less negative charge thanK" and

Cl™ ions inside
Options:
6154758417 1
61547584185 2
154758419 2
154758420 4
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(mifsag = Na*: m2feem = K #69Es = Cl : Si00HS s = A ;
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K'mg A” d
(2) Togi % s A Na® wa Cl ions o AR =19 i 960 =9 Bl & 99 31 O KT v
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(3) (5@l & =t 9 Na® U9 A~ jons H FHNIcHF 975 1 960 AGF =6l 7 90 31=g 9 K

ud Cl” ions ®

(4) fr#t % set et Na® td A~ ions H TWeR® =TS =l G0 =4 2 & &9E A g K g

Options:

6154758417 1
6154758418 2
6154758419 3
E154758420. 4
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Suler's (2004) concept of "Onhine Disinhibition Effect” 15 characternsed by

(a) Anonyvmity

(b) Accessibility

(c) Hierarchies negation

(d) Easzy escape consequences

Choose the correct option :
(1) (a) and (b) only

(2) {a). (b) and (e)
(3) (a). (c) and (d)

{4) {a). (b) and (d)

Options:

6154758421 1
6154758422 2
6154758423 3
£154758424 4
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Which are the two basic features of Schema?

(a) Influencing memorv
(b) Promoting forgetting
(c) Rezisting change

(d) Promoting change

Choose the correct option :

(1) (a) and (b)
(2) (a) and (c)
(3) (a) and (d)

i(4) (b) and (c)

Options:

6154758425 1
6154758426 2
6154758427 3
£154758428. 4
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£154758425 1
E154758426. 2
6154758427, 2
6154758428, 4
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Creativity has been conceptualised in terms of which of the following

(a) As person
(b) As potential
(c) As process

(d) As perseverance

Choose the correct option :

(1) (a). (b) and (c) only
(2) (b). (c) and (d) only
(3) (a). (e) and (d) only

(4) (a), (b), (¢) and (d)

Options:

£154758429 1
E154758420 2
6154758421, 2
6154758432 4
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6154758429 1
E154758420 2
6154758421, 2
5154758432, 4
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The Eudemonic view of Subjective Well-beings holds that

(a) true happiness is found in expression of virtue

(b) well being refers to “striving for perfection’

(e) subjective well-being focuses on bodily pleasures like focus on appetite and self
interests

(d) Well-being consists of fulfilling its ‘true-self’

Choose the correct option :

(1) Only (e)

(2) (c) and (d)

(3)  (a), (b) and (d)
(4)  Only (a)

Options:

61547584233 1
6154758434 2
6154758435 3
154758436 4
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Options:
6154758433 1
6154758434 2
E154758435 =
61547534356, 4
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Which of the following are the motivators for helping others?

(a) Attitudes
(h) Empathy
(c) Personal distress

(d) Norms and values

Choose the correct option :

(1) (a). (b) and (c)
(2) (a). (b) and (d)
(3) (a). (e) and (d)

(4) (b). (¢) and (d)
Options:
£154755437. 1
6154758458 2
154758429 3
154758440 4
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6154758437 1
6154758438 2
6154758439 3
£154758440, 4
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In the context of marginalization it is suggested to adopt ‘Social Empowerment Model while
dealing with LGBTs because

(a) it increases this group’s collective and personal self advocacy

(b) they learn that they can lead “fulfilling and satisfying” lives

(c) concerns about LGBTs are social concerns and not the concern for individual

(d) they realise that being gay or lesbian is not a pathological condition

Choose the correct options :

(1) (a). (b) and (c) are correct
(2) (a) and (d) are correct
(3) (b) and (c) are correct

(4) (a), (b) and (d) are correct

Options:

6154758441 1
6154758442 2
6154755443 3
£154758444 4

Question Number : 111 Question Id : 6154752163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T F Tl § ue S A F Ty EEr F g9 CumieE geehe qisd” ) AEH F gEE

= % e
AT Eidl & 1k

(a) 399 39 99 & HAHEF AR A @ TEEAYE H Jhg 2l 2

(b)  THH J WrET 2 fF T YT AR TamTeAE =T S g% 2

() U« i =t & getad = gmEtasd =1 2 9 & =atma)

) = o S i e (S e A 2

1) (). (b) AW (c) Tl &
(2)  (a) 3 (d) "E E
(3)  (b) X (c) T B

4 (a). (b) X (d) 771 &

Options:

154758441 1
154758442 2
6154758443 2
61547558444 4
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Jensen's level I and level II abilities can be best understood in terms of which of the
following?

(a) Difficulty and complexity of tasks

(b) Socioeconomic differences

(c) Racial differences

(d) Geographical differences

Choose the correct option :

(1) (a), (c) and (d) only
(2) (a). (b) and (e) only
(3) (b), (¢) and (d) only

(4) (a). (b), (e) and (d)
Options:

6154758445 1
6154758446 2
6154758447 2
£154758448. 4
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6154755445 1
6154758446, 2
6154758447 3
6154758448 4
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Which of the following statements are correct?

(a) Dilthev opposed reductionism
(b) Dilthey opposed psychophysical parallelism
(c) Dilthey rejected the positivistic approaches to experimental psychology

(d) Dilthey rejected the idea of description

Choose the correct option :

(1) (a), (b) and (d) are correct
(2) (a), (e) and (d) are correct
(3) (b) and (c) are correct

(4) (a). (b) and (c) are correct
Options:

6154758449, 1

6154758450, 2

6154758451, 3

£154758452. 4
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154758451 2
154758452 4
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The teacher had marks for 50 students in his class. He computed their mean and standard
deviation. Considering that the evaluation was too strict. he gave five grace marks to each
student. This would

(a) Increase mean by five

(b) Alter standard deviation in an unpredicted way

(c) Change the rank order of the students

(d) Change the skewness of the distribution

Choose the correct option :

(1) (a) only

(2) (a) and (b) only

(3) (a), (b) and (c) only
(4)  (a).(c) and (d) only

Options:

6154758453 1
£154758454 2
£154758455 2
6154758456, 4
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65154755453, 1
65154755454, 2
65154755455, 3
65154755456, 4
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o

Which of the following are true as per Brentano's concept of Phenomenology?

(a) Outer ohjects can be perceived only

(h) Mental experiences can be perceived only

(c) Feelings and willing be combined in one category

(d) Outer objects can be both perceived and experienced

Choose the best option :

(1) (¢) and (d) are correct

(2) (a) and (c) are correct

(3) (b). (c) and (d) are correc

(4) (a) and (b) are correct
Options:

BE154758457. 1
E154758458. 2
51547584559 3
6154758460, 4
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Options:

6154758457 1
£154758458. 2
£154758459 2
6154758460, 4

Question Number : 116 Question Id : 6154752168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Match the given concepts 1n List I with deseription given in Last IT

ListI

(a) Tumyavastha

(b) Prajnavastha

(c) Swapanvastha

(d) Jagratavastha

Codes:

(1) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(111), (e)-(11). (d)-(1)
(3) (a)-(1m1). (b)-(1v). (e)-(1). (d)-(1)
(4) (a)-(1). (b)-(111). (¢)-(11). (d)-(1v)

Options:
£154758461 1

E154758462. 2
E154758463. 3
E154758464. 4

(1)

(11)

{111)

(1v)

List IT

The state of normal consciousness
concerned with material world

Subconscious faculty concerned with
the subtler aspects of human
knowledge and experience

State of super consciousness when
dichotomy between grossness and
subtlety disappears

Steady state of consclousness when
essential nature of atman 1s
experienced
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(a)-(1). (b)-(111). (¢)-(11). (d)-(1v)

6154753461, 1
E154758462. 2
E154758463. 3
E154r58464. 4
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Match the following concepts with the corresponding bodily states

(a) Rebound Phenomena (1) REM sleeps
(b) Phantom Limb (1) Pain

(c) Scotopic Process (11) Vision

(d) Apoptosis (1v) Cell death

Choose the correct option from those given below :

(1) (a)-(1). (b)-(i1). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(3) (a)-(1). (b)-(1w). (c)-(111). (d)-(11)
(4) (a)-(1v). (b)-(1). (e)-(111). (d)-(11)

Options:

6154758465 1
6154758466, 2
6154758467, 3
154758468, 4
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(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(1n1)
(3) (a)-(1). (b)-(aw). (c)-(111). (d)-(11)
(4) (a)-(av). (b)-(1). (c)-(111). (d)-(11)

Options:

6154758465 1
6154758466, 2
£154758467. 2
154758468, 4
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Match the following types of aggression with their deseription :

(a)

(b)

(c)

(d)

Choose the correct option from those given below

(1)
(2)
(3)
(4)

Options:

Hostile Aggression

Emotional Aggression

Instrumental Asgression

Thantos

(a)-(1), (b)-(1i), (e)-(iii), (d)-(iv)
(a)-(11). (b)-(111), (e)-(iv), (d)-(1)
(a)-(iii), (b)-(v), (e)-(1), (d)-(i1)
(a)-(ai1), (b)-(1v), (e)-(i1). (d)-(1)

6154753469 1
E154758470 2
E154758471 3
B154r58472 4

An  instinctual drive involving
aggressive actions towards death
Injury in which the goal is to obtain
something of value

An act stemming from feelings of
anger and aimed at inflicting pain
Injury or harm that is carried out for

the explicit goal of hurting some one
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(1) (a)-(1), (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). {(c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)
(4) (a)-(11). (b)-(1v). (c)-(11). (d)-(1)

Options:

154758469 1

154758470, 2

61547532471 3
E154758472 4
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Match the given concepts with relevant description :

(a) DBottom up (1) Happiness due to circumstances tends

to be temporary because we generally

adjust fairly soon to new
circumstances

(b) Top down (1) Life circumstances influence
happiness

(c) Happiness set point (111) Happiness begins in ourselves

(d) Hedonic adaptation (iv) Happiness levels are fixed and stable

across time

Choose the correct option :

(1) (a)-(11). (b)-(1). (e)-(1v), (d)-(ii1)
(2) (a)-(11). (b)-(111), (e)-(1), (d)-(1v)
(3) (a)-(111). (b)-(11), (c)-(1v). (d)-(1)

(4) (a)-(11), (b)-(111), (e)-(iv). (d)-(1)
Options:

6154758473 1

6154758474 2

6154758475 3

£154758476. 4
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Match the following diseases with their corresponding descriptions :

(a) Parkinson’s Disease (1)

(b) Huntington's Disease (11)
(c) Alzheimer's Disease (111)
(d) Korsakoff Syndrome (1v)

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(23 (a)-(1), (b)-(1v). (e)-(111), (d)-(11)
(3) (a)-(1), (b)-(11). (e)-(111), (d)-(1v)

(4) (a)-(11). (b)-(111), (c)-(1v). (d)-(1)
Options:

6154758477 1

6154758478, 2

£154758479 2

E154758420. 4

Movement disorder associated with

cognitive deficits

Progressive motor disorder associated
with severe dementia

Progressive  decline in  memory
starting with selective forgetting

A form of dementia which i1s caused by

deficiency of vitamin Thiamine
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(1) (a)-(1). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)
(3) {a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(4) {(a)-(1). (b)-(u). (c)-(av). (d)-(1)

Options:

6154758477 1
6154758478 2
£154758479 2
5154755430, 4
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Match the following elements of Immune System with their respective functions

(a) Neutrophils (1)  Field Marshalls
(b) Immunoglobins (11) Cytoxic action

(e) NK (National Killer) cells (111) Phagocytic action
(d) CDs (1iv) Antibody action

Choose the correct option :

(1) (a)-(1v), (b)-(ii), (e)-(ii1). (d)-(1)
(2) (a)-(ii1), (b)-(1), (¢)-(i1), (d)-(1v)
(3) (a)-(111). (b)-(iv). (e)-(i1). (d)-(1)

(4) (a)-(i1), (b)-(v), (e)-(1), (d)-(ii1)
Options:
6154753481, 1
6154758482 2
6154758453 3
61547538454 4
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(d) %4 (iv) TmE

(1) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(2) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(3) (a)-(11). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)

Options:
£154755451. 1

E154758482 2
E154758483. 3
E154r58484. 4

Question Number : 122 Question 1d : 6154752174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following leadership styles with their characteristies :

(a)

(b)

(c)

(d)

Choose the correct option from the give helow :

(1)
(2)
(3)
(4)

Options:

Directive

Supportive

Participative

Achievement oriented

(a)-(1). (b)-(12). (e)-(111), (d)-(1v)
(a)-(i1), (b)-(i11), (e)-(iv). (d)-(1)
(a)-(11), (b)-(iv), (¢)-(1), (d)-(11)
(a)-(iv), (b)-(1), (c)-(ii), (d)-(iii)

E154758485. 1
E154758486. 2
E154758487. 3
E154758488. 4

Leader consults subordinates thereby
permitting them to participate in
decision making

Leader sets challenging goals and
seeks improvement in performance

Leader provides specific guidance by
establishing work schedules and rules

Leader establishes good relations with
sub-ordinates and satisfies their needs

Question Number : 122 Question Id : 6154752174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d)
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(1)
(2)
(3)
(4

Options:

(a)-(1), (b)-(11). (e)-(11), (d)-(iv)
(a)-(i1), (b)-(1ii), (c)-(1v), (d)-(1)
(2)-(iii). (b)-(iv), (e)-(1), (d)-(ii)
(a)-(1v). (b)-(1). (e)-(11). (d)-(111)

E154758485. 1
E154758486. 2
E154758487. 3
5154758488, 4

@d ATl &1 39| TR § gHed &

(1)

AT AHFEAT § WHI #aT £ AN 36 w6
Irg U o ° TR o 1S9 odr 2l
a9 FAEE e FgiiE #wEa B O#R
FHEfASEA 1 gEw =Ed 2
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I A9 AR U Hos ey Ty Han
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Question Number : 123 Question 1d : 6154752175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O



Match the following types of memories with their features :

(a) Non-declarative memory (1)

(b)  Echoic memory (11)
(c) Semantic memory (111)
(d) Episodic memory (1v)

Choose the correct option from those given below :

() (a)-(). (b)-Gi). (e)-@ii). (d)-(iv)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111), (b)-(1v), (e)-(1). (d)-(11)
(4) (a)-(iv). (b)-(ii1), (¢)-(11). (d)-({)

Options:

6154758489 1
6154758490 2
£154758491. 2
6154758492, 4

Type of declarative memory containing
general knowledge of language and
information

Type of declarative memory containing
personal information not readily
available with others

Type of LTM for skills, procedures,
habits ete
Auditory sensation lasting only for 2 to
4 seconds

Question Number : 123 Question Id : 6154752175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



TeAfeATEd TR 1 Tgiaa #5136 @60 § He

(a) 7AW () =i i A Tk TR e wm e
=1 I W [H HH(ed w6 2

(b) wfEaty wia Qi) =R ERE T e 9w == gm
(1 et e et e 7 s a1 e e
A =

(¢) 147 T (i) FoE, FEEE, e G FEEid
AT T T T TR

(d) FeATEE T (iv) 4mEfE HEaEA A FA 2-4 HEes 9F A
Tl 7|

He=ATeTiad § 9 Ha) 9o 1 =999 H

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(1)
(4) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)

Options:

5154758489 1

£154758490 2

61547534391 3
E154758492 4

Question Number : 124 Question Id : 6154752176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the waves with the corresponding frequencies :

(a) Alpha waves 1) 4-—THz
(b) Beta waves iy 1430 Hz
(c) Theta waves (i11) 8- 13 Hz
(d) Delta waves av) 0—-3H=z

Choose the correct option from those given below :

(1) (a)-(111). (b)-(i1), (e)-(1). (d)-(iv)
(2) (a)-(11). (b)-(111), (c)-(1). (d)-(1v)
(3) (a)-(ii1). (b)-(i1), (e)-(v). (d)-(1)

(4) (a)-(11), (b)-(111), (e)-(1v). (d)-(1)
Options:

6154758493 1

6154758494 2

E154758495 =

6154753496, 4

Question Number : 124 Question Id : 6154752176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HEARgd 941 &1 3949 Faidgd aRardl ° gHa &5

(a) STFH 9T i) 4—T7Hz
(b) T T (i) 14 —30 Hz
(c)  offer o (iii) 8—13 Hz
(d) I T (iv) 0—3Hz

o 4 w2 aey =1 =99 &1

(1) (a)-(iii). (b)-(i1), (e)-(1), (d)-(iv)
(2) (a)-(11). (b)-(111), (c)-(1), (d)-(1v)
(3) (a)-(111), (b)-(i1), (c)-(1v), (d)-(1)
(4) (a)-(11). (b)-(111), (e)-(1v). (d)-(2)

Options:

6154758493 1
6154758494 2
6154758495 3
154758496 4

Question Number : 125 Question Id : 6154752177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Matech the following Intelligence/Ability tests with the associated features

(a) Naglier Non-verbal Ability test (1)  Provides deviation IQ
(b) Raven's Progressive  Matrices (ii) Open-end test
(Standard)

(c) Torrance Test of Creative Thinking (1i1) Suitable for children

(d) Wechsler Adult Intelligence Scale (1v) Adult Culture Fair Test

Choose the correct option from those given below :

(1) (a)-(iii), (b)-(iv). (e)-(i1). (d)-(1)
(2) (a)-(iv). (b)-(ii). (e)-(1). (d)-(ii1)
(3) (a)-(iv), (b)-(i11). (e)-(11). (d)-(1)

(4) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

Options:

6154758497 1
£154758498 2
£1547558499 2
154758500, 4

Question Number : 125 Question Id : 6154752177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hefefiga St /av=ar THaEl #1398 Fardd S0 F e 5

(a) FIieTER T AT FEEAT AT (1) Ta=en gigafsya wem #a 2
(b) TEE F1 W dTEE () (i) Tega sz

() 2\ FoTeA® o= T (iti) sl fero it

(d) 9T Wy gy T (iv) g TEH g T

HE TaFed 1 =9 H

(1) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(2) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(3) (a)-(1v). (b)-(111). (¢)-(11). (d)-(1)
(4) (a)-(111). (b)-(1v). ()-(1). (d)-(11)

Options:
61547554497 1

E1547584898. 2
E1547584959 3
5154758500, 4

Question Number : 126 Question Id ;: 6154752178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following in temporal sequence

(a) Establishment of Psychology department in Mysore
(bh) Establishment of Psychology department in Calcutta
(c) Establishment of Psychology department in Madras
(d) Establishment of Psychology department in Pune

(e) First Indian Journal of Psychology

Choose the correct option :

(1) (b) = (a) = (¢) = (e) = (d)
(2) (b) = (a) = (&) = (c) = (d)
(3) (b) = (e) = (a) = (d) — (e)

(4) (a) = (b) = (e) = (¢) — (d)
Options:
6154753501, 1
6154758502 2
6154758503 3
61547538504 4

Question Number : 126 Question Id : 6154752178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AIRad ®1 &1 FH & FATER [y

(a) T A TAMEEE =R T

(b)  Forwl § THTESE =R i EE
(c)  TE™ H TS fum 1 T
(d) 91 H FEIESH EEE ] FE

(e)  THIESH =l 949 YR MG T

(1) (b) = (a) = (¢) = (e) = (d)
(2) (b) = (a) = (e) = (c) = (d)
(3) (b) = () = (a) = (d) — (e)

(4) (a) = (b) = (e) = (e) > (d)
Options:
61547585011
6154758502 2
154758502 2
154758504 4

Question Number : 127 Question 1d : 6154752179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in sequences as per Atkinson and Shiffrin’s model of memory when

the information is processed

(a) Short term memory
(b) Elaborative rehearsal
(c) Long term memory

(d) Attention

(e) Sensory memory

(1) (d) = (e) = (a) = (b) = ()
(2) (e) = (a) = (d) = (b) = ()
(3) (e) > (d) = (a) = (b) = (¢)

(4 (d)—=(e)=(a) = b)) =(e
Options:
6154758505 1
E1547EE506. 2
6154758507, 2
6154758508 4

Question Number : 127 Question Id : 6154752179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT 1 TENGT Fd T T2 AR RIE & Wid Aisd & SR Fefatad # %8 1 od

(a)  FeaElE [

(b)y  FEEATRG FEIEE
(c)  ErEwEE T

(d) I
(e) Tl T
el TaeheT &1 =599 #+

(1) (d) = (e) = (a) = (b) = (¢)
(2) (e) = (a) = (d) =» (b) = (¢)
(3) (e) = (d) = (a) = (b) = (e)

(4) (d) = (e) = (a) = (b) = (¢)

Options:

6154758505 1
6154758506, 2
6154758507, 3
6154758508, 4

Question Number : 128 Question 1d : 6154752180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Involvement of frontal lobe in intellizence can be understood in terms of which of the
following sequence

(a) Frontal lobe — Focusing attention internally — Working memory — General
reasoning

(h) Frontal lobe — Focusing attention internally — Response selection — General
reasoning

(c) Frontal lobe — Short term storage — Working memory — General reasoning

(d) Frontal lobe — Response selection — Working memory — General reasoning

Options:

E154758509. 1
E1547585100 2
6154758511 3
E15475851% 4



Question Number : 128 Question Id : 6154752180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TGl H S (F2d) M & Tagdl & HEngd ° 0 %0 § 9931 31 951 8 7

-

(1)  Whed A —> HAHE T H Tehigd 2AH —> FREYE Fid —> TEAE e

(2) FEE SE — SATANE §9 U ehirgd SAH —> SR =89 — T G

(3)  hed AF —> FEAEAE-RHS —> FEE FWid — ame adte

(4)  Thed AE —> FHAGAT =99 —> FEA THid —> THA Tl

Options:

6154758509 1
6154758510 2
£154758511. 2
6154758512 4

Question Number : 129 Question Id : 6154752181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange in sequence the scoring categories for ‘Motive to Avoid Success’ as given below

(a) Non—contingent negative consequences
(b) Interpersonal engagement

(c) Relief

(d) Absence of Instrumental conditioning
(e) Absence of others

Which of the given below sequence 1s correct?

(1) (a) = (b) = (d) = (c) = (e) (2) (b) = (a) = () = (e) = (d)
(3) (a) = (b) = (e) = (d) = (e) (4) (¢) = (d) = (e) > (b) > (a)
Options:

51547585131
6154758514 2
6154758515 3
E154758516. 4

Question Number : 129 Question Id : 6154752181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TFAT THER TF o STehis0] &0 i Hel 8 5 SHaiead =i

(a) sTHE (Non-contingent) TeHRICHTS THEH

(b) -4 g (Interpersonal Engagements)

(c) Tad

(d)  Afa® s gFem Fit Fgafeta (Instrumental conditioning)
(e) =11 =i AU

= %1 T2 AfET § 9w ' v

(1) (a) = (b) = (d) = (c) = (&) (2) (b)) —=(a) = (c) = (e)—(d)
(3) (a) = (b)) —(c) = (d) = (e) 4y (c)—=(d)—=ie)—=(b)—=(a)
Options:

515475585131
6154758514 2
6154758515 3
E154758516. 4

Question Number : 130 Question Id : 6154752182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following stages of moral development in sequence of their emergence as an

individual grows up

(a) Morality of interpersonal cooperation
(b) Universal ethical principle orientation
(c) Social order maintaining orientation
(d) Instrumental purpose orientation

Choose the correct option :

(1) (d) — (a) = (b) = (e)
(2) (d) = (a) = (c) = (b)
(3) (a) = (b) = (d) = (e)

(4) (b) = (¢) = (d) — (a)
Options:
6154758517 1
6154758518 2
6154758519 3
E154758520 4



Question Number : 130 Question Id : 6154752182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At T & e =07 1 399 3gd % A9 FEEg

(b)y  TEYHE Ao g

() TN FT & TF-TFF F TT0a

(dy i 3Eva & IgE

(1) (d) = (a) = (b) = (¢)
(2) (d) = (a) = (¢) = (b)
(3) (a) = (b) = (d) — (¢

(4) (h) = (e¢) = (d) — (a)
Options:
£l154758517. 1
61547585185 2
154758519 2
6154758520 4

Question Number : 131 Question Id : 6154752183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what sequence the Social Combination rules are followed for group success?

(1) Additive. disjunctive, compensatory. conjunctive
(2) Additive, compensatory. disjunctive, conjunctive
(3) Disjunctive, compensatory. conjunctive, additive
(4) Compensatory, conjunctive, disjunctive, additive
Options:

E154758521. 1
E15475E522. 2
E154758523. 3



E154758524. 4

Question Number : 131 Question Id : 6154752183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

iz 1 T % forw e T Fe e e e # G T 27

4 s = Ty ®
{(2) AFTCHE, Ta90H, TSARTcHE, 9915+
(3) fEATTea, TIa9E, AT, TTCEF

Options:

6154758521 1
6154758522, 2
6154758523 3
6154758524 4

Question Number : 132 Question 1d : 6154752184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the Ego Strengths in correct sequence according to Erickson’s stages of ego

development

(1) Hope — purpose — competence — fidelity — love — care — wisdom — will

(2) Will » hope —» purpose — competence — fidelity — care —» wisdom — love
(3) Hope — will - purpose — competence — fidelity — love — care — wisdom
(4) Purpose — hope — will — fidelity — competence — care — wisdom — love
Options:

E154758525. 1
E154758526. 2
E154758527. 3
BE154758528. 4

Question Number : 132 Question Id : 6154752184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



U & o7e0 f9wE & T & AI9R HA2q 6 Wit & TE 0 | sZafend +

(1) AW — 3299 —> F9Hd1 — FvasdiEa — 31 — T@-9+ — 9571 — =91

(2) T —> AW —> 3T —> TeHAl —> fFwaadEa — @-d — 95— 0"

(3) N —> =B —> IL¥T —> TEHA —> FvIEHEar — Y9 —> T@-91F —> T

(4)  FIT —> AR —> T=0T —> Fvaadiaar — 989 —> SE-9e —> 551 —> 39

Options:

6154758525 1
6154758526 2
6154758527, 3
£154758528. 4

Question Number : 133 Question 1d : 6154752185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Escalation of committment involves following sequence of steps

(a) Occurrence of loss
(b) Self-Justification
(c) Strengthening by external factor

(d) Rational expectation of positive outcome

Choose the correct option :

(1) (d) = (a) = (c) = (b)
(2) (d) = (a) = (b) = ()
(3) (a) = (b) = (e) = (d)

(4) (a) = (b) = (d) = (e)
Options:

£154758529 1

6154758520, 2

6154758521, 2

6154758532 4



Question Number : 133 Question Id : 6154752185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qfdslgdl & diaiai0 (Escalation of Committment) § FHAREd =0 &1 %9 TfF<d 2

(a) ?’Tﬁﬂtﬁ
(b) H-FHi=a
(c) el T 1 Goa e

{d} ;\ i.“: rq’qa qh\:i ][ ﬁ '5 Eiar'iaq :ﬂ-a-':ﬂ-l-

(1) (d) = (a) = (c) = (b)
(2) (d) = (a) = (b) = (¢)
(3) (a) = (b) = (c) = (d)

(4) (a) = (b) = (d) — (c)

Options:

6154758529 1
61547585320 2
61547585321, 3
£154758532 4

Question Number : 134 Question Id : 6154752186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the correct sequence of events following prolonged stress

(a) Corticotropin releasing factor
(b) Adrino corticotrophic hormone
(c) Cortisol

(d) Immune suppression

Choose the correct option :

(1) (a) = (b) = (c}) = (d)

(2) (d) = (¢) = (a) = (b)

(3) {a) = (c) = (d) = (b)

(4) (b) = (c) = (a) = (d)
Options:

E154758533. 1
6154758534 2
6154758535 3
E1547538536. 4

Question Number : 134 Question Id : 6154752186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Zaratas i % RO EHA! 921 1 TE HE G
l:_a.] - :'- l‘-':r -r-x'." 1 [ = I"'IF-" .'-' -

:b] Il‘: % : :-.."rr I_;- F - = .

(d) SHFT] Uiaad (Immune Suppression)

wA fawe =

(1) (a) = (b) = (c) = (d)
(2) (d) = (c) = (a) = (b)
(3) {a) = (c) = (d) = (b)
(4) (b) = (c) = (a) = (d)
Options:

5154758533 1
6154758534 2
61547585355 3
E154758536. 4

Question Number : 135 Question Id : 6154752187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange in sequence the network of auditory pathways

(a) Auditory Nerve

(b) Cochlear Nuclei

(c) Superior Olives

(d) Lateral Leminiscus

(e) Inferior Colliculi

(£) Medial Geniculate Nuclei

(o) Primary Auditory Cortex

Choose the correct sequence :

(1) (@—=@c->b—=>d->E) -0
(2) (a) > (b) > (c) > (d) = (e) > () > (g)
3) (o> @>d-o@E—>@-—=>E =0
(4) (f) > (g) > (e) > (d) = (c) = (b) > (a)

Options:

6154758537 1
6154758538 2
6154758539 3
£154758540. 4

Question Number : 135 Question Id : 6154752187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Auditory Pathways) %= URYY = 92 Fi @&l F9 4 GoATeaq =+

(a) ] AT (Auditory Nerve)
(b) FFTa F5F (Nuclei)

(c)  HMTER HAlfered

=y = T
(d) 2] A HEFH
il il ] el ) P
(e) HERIRIREAEIE 2]l

(f) fatsae SHFz FFT (Nuclei)

(g)  WiEH am FHioaw

(1) (a) = (c) = (bh) = (d) = (e) = () = (B

(2) (a) > (b) = (c) = (d) = (e) > () = (=)

(3) (b) = (a) = (d) = (c) > (g) = (e) = ()

{4) (fi > (2) > (e) > (d) = (c) = (b) = (a)
Options:

61547535371
E154758538. 2
E154758539. 3
51547558540, 4

Question Number : 136 Question Id ;: 6154752188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements - one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  MRI provides images of brain activity rather than brain images

Reasons (R) : Results in MRI are obtained from the measurement of waves that
hydrogen atoms emit when they are activated by radio-frequency waves in

a magnetic field
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) is false

(4) (A) 1s false, but (R) 1s true
Options:

154758541 1

E154758542 2

154755542 =2

£154755544 4

Question Number : 136 Question Id : 6154752188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=1 21 o U T B - wEel i U (A) % &9 H q97 gEL FI @ (R) F &9 Fafed fon w2

F2 (A) : U SR A3 AfeqsF &l Afafaie] 1 Ifafs Wqa &4l 2, 7 T afewss &5 giatm |
T+ (R) : T SR o F e e gedm d&m T i 9afa @ g st fe o

FTESISH TS g Ieafs i % AT & I A 2

I a1 A1 o gied TE EeeT =4

(1)  (A) R (R) 21 @81 & AR (R) (A) i T =A0=A1 F+T 2

(2) (A) #FF (R) 591 @21 2 37 (R) (A) &1 T&1 =0 981 a1 2
(3) (A=l 2, W (R) @@l Fl 2

4 (A TE FE 2, g (R) T 7



Options:

6154758541 1
£154758542 2
£1547585432 2
6154758544 4

Question Number : 137 Question Id : 6154752189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

(Given below are two statements - one 1= labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  Sensitivity to targets reflects the placement of a flexible criterion and 1s

measured 1n terms of 'hits minus false alarms'.

Reasons (R) : When the consequences of making a Miss are very grave. we lower the

criterion for considering something as a Hit.

In the hight of above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 12 not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false. but (R) 1= true

Options:

6154758545 1
£154758546. 2
£154758547. 2
5154758548, 4

Question Number : 137 Question Id : 6154752189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154758545 1
6154758546 2
6154758547 3
6154758548 4

Question Number : 138 Question Id : 6154752190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - Assertion (A) and Reason (R).

Assertion (A):  High sensation seekers are inclined to get involved in variety of thrill-

seeking activities.

Reasons (R) : Engagement in thrill seeking behaviour triggers the release of

epinephrine.

In the light of above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:

6154758549 1

154758550 2

154758551 2

154758552 4

Question Number : 138 Question Id : 6154752190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758549 1

6154758550 2

&154758551. 2

5154758552, 4

Question Number : 139 Question Id : 6154752191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labelled as Assertion (A) and other is labelled as

Reason (R).

Assertion (A) :  Culture encompasses life styles. values. practices and goals which provide
distinct identities to the people and community.

Reasons (R) : Culture always acts as a constraint in the growth of a community

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

(4) (A) 1s false. but (R) 1s true
Options:

154758552 1

£154758554 2

6154758555 2

154758556 4

Question Number : 139 Question Id ;: 6154752191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

154758553 1
6154758554 2
6154758555 2
6154758556 4

Question Number : 140 Question Id : 6154752192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(Given below are two statements - one is labelled as Assertion (A) and other is labelled as

Reason (R).

Assertion (A) :  Philosophically the word pragmatism emphasizes results rather than
methods.

Reasons (R) : A pragmatic view of science accepts methodological approaches to
knowledge.

In the light of above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

1547585571

£154758558 2

E154758559 2

154758560, 4

Question Number : 140 Question Id : 6154752192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154758557 1
6154758558 2
£154758559 2
154758560, 4

Sub-Section Number: 2
Sub-Section Id: 61547597
Question Shuffling Allowed : Yes

Question Id : 6154752193 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



Read the following paragraph and answer the five questions. which follow :

The experimental psvchologist wanted to explore whether the nolse adversely affects the
reaction time (RT). She also wanted to explore whether the stress level would moderate the
effect of noise. She varied noise at three levels - low (30 decibels). moderate (60 decibels) and
high (90 decibels). She varied stress at two levels - low and high. From the 1mitial pool of
college students. subjects were randomly assigned to different groups. However. a few
subjects could not turn up to the laboratory due to vacation. In all. two hundred and ninety
seven subjects participated in the experiments. Each subject. in each group. was tested for
simple RT. disjunctive RT. and choice RT. The theorv and preliminary analvses indicated the
three tvpes of RT were moderately correlated. The covariance matrices. showing the co
variances among the three tyvpes of RTs. were found to be qute similar for all the groups.
The multivariate analvsis of varance (MANOVA) results were computed to explore the
egroup differences in means. As the most common practice 1s. four test critema (Pillal's
criterion. Wilks' criterion. Hotelling's criterion. and Rov's criterion) were obtained. Among
the different results obtained in this work. one interesting finding was that the stress
moderated the effect of noise level on reaction time.

Sub questions

Question Number : 141 Question 1d : 6154752194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following reason best justifies the application of MANOVA in the present
work?

(1) There are several groups and more than one Independent Variable (IV)

(2) More than one Dependent Variables (DV) have been employed

(3) More than one Dependent Variables with moderate inter correlations. have been
employed

(4) The moderating effect of stress on the effect of noise on RT can be demonstrated only
through MANOVA

Options:

E154758561. 1
E154758562. 2
E154758563. 3
E154758564. 4

Question Number : 142 Question 1d : 6154752195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The design employed in the above study can best be labelled as
(1) Randomized six group design with single factor

(2) Balanced factorial design

(3) Unbalanced factorial design

(4) Unbalanced factorial design with a covariate

Options:
6154758565 1
6154758566 2



E154758567. 3
E154758568. 4

Question Number : 143 Question Id ;: 6154752196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The above information suggests that

(1) the assumption of homogeneity of covariance matrices 1s not satisfied
(2) the assumption of homogeneity of covariance matrices is satisfied
(3) covariance among Dependent Variables (DVs) are zero
(4) the assumption of homogeneity of variances is not tenable
Options:

51547585659 1
6154758570 2
6154758571 3
E154758572 4

Question Number : 144 Question Id : 6154752197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following test criterion is more appropriate than the others?

(1) Roy's eriterion

(2) Wilk's eriterion

(3) Hotelling's criterion

(4) Pillai’s criterion
Options:

BE154758573. 1
B154758574 2
6154758575 3
E154758576. 4

Question Number : 145 Question Id : 6154752198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following conclusion can be confidently drawn from the above study?

(1) Main effect of noise is significant

(2) Main effect of stress is significant

(3) Noise x Stress interaction is significant

(4) The main effects of noise. stress and interaction effect are significant
Options:

BE154758577. 1
6154758578 2
6154758579 3
6154758580, 4

Question Id : 6154752193 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question 1d : 6154752194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 _\Nrong Marks: 0

FEERad § 8 %4 91 FE0 F09[ &1 5 MANOVA & FTFAM &1 Taids =F8Td 3a0al 2 7
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Options:



E154758561. 1
B154758562. 2
E154758563. 3
6154758564 4

Question Number : 142 Question Id : 6154752195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758565 1
6154758566 2
6154758567, 3
154758568 4

Question Number : 143 Question 1d : 6154752196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT T e = 2 e
Ih HOI4 H UTH HeAl {i:-llltlfi chiddl & Ish

(1) T aIfedshT &1 UHETal shi TR 097 T8l 2
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(3)y  wfud =i (DVe) & == Tuiadd 3 &

(4) eI ol UeETdl i FFEE0 98T 981 7
Options:

6154758569, 1

154758570 2

6154758571, 3

6154758572, 4

Question Number : 144 Question Id : 6154752197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HAT HI o J Ingd WA 99e0S] § ¥ Fanges STE i b1 8 7

(1) T <] 1950 S

[‘1‘} iq E_.j: Srm H 'ZIFJE

Options:

6154758573 1
6154758574 2
6154758575 3
154758576 4

Question Number : 145 Question 1d : 6154752198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
3% S O FEfatad 1 8 w0 e geargas HeEen o g 20

(1) = &1 3= 99T T9F 2|
(2) T F I UHE WAF B

(3) @ X 79 F A @ 2
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Options:

6154758577 1
6154758578, 2
6154758579 3
6154758580, 4

Sub-Section Number: 3
Sub-Section 1d: 61547598
Question Shuffling Allowed : Yes

Question Id : 6154752199 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension



Read the following paragraph and answer the five questions. which follows :

A leading business school in the city had a view that its students must have a good
proficiency in English language usage. As an mitial step. the school authorities decided to
develop a brief language usage test. The project incharge wrote 30 1tems. Each 1tem had five
alternative answers. one of which was correct. He administered these 30 1items to a sample of
250 students. For item analvsis. item-remainder correlations were computed. The item
analvsis retained 25 items. The twenty-five item version was administered to a fresh sample
of 300 students. Three rehability coefficients were computed - split - half rehabihty
coefficient. Kuder-Richardson (K-R) reliability coefficient. and Cronbach alpha - were
computed. The Cronbach alpha was found to be 0.7. The test-retest rehiability was also
computed with a time-interval of eight weeks In two administrations. using the same
sample. The test-retest correlation was found to be 0.26. significant at .001 level. The school
authorities. pleased with the efforts of the project incharge. asked him to add sumilar 1tems
and develop a 75 1tem version.

Sub questions

Question Number : 146 Question Id : 6154752200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following correlation is most suitable for computing item-remainder
correlations?

(1) Tetrachoric Correlations

(2) Phi-Coefficient

(3) Contingency Coefficient

(4) Point bi-serial Correlation
Options:

E154758581. 1
E154758582. 2
E154758583. 3
E154758584. 4

Question Number : 147 Question Id ;: 6154752201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements - one is labelled as Assertion (A) and the other is labelled as

Reason (R)
Assertion (A):  The computation of K-R reliability is questionable in the above study
Reasons (R) : K-R reliability is suitable for tests with dichotomous items

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 1s false. but (R) is true
Options:

6154758585 1

6154758506 2

&154758567. 2

154758588 4

Question Number : 148 Question Id : 6154752202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The above information provides an evidence for

(a) Unsatisfactory test-retest reliability
(b) Satisfactory test-retest reliability
(c) Acceptable internal consistency reliability

(d) Unacceptable internal consistency reliability

Choose the correct option :

(1) (a) and (c)
(2) (a) and (d)
(3) (b) and (e)

(4)  (b) and (d)

Options:
£1547585549 1

E154758590 2
E154758591. 3
B154758592. 4

Question Number : 149 Question Id : 6154752203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the three reliability coefficients : (a) split-half reliability coefficient; (b) K-R
reliability coefficient: and (¢) Cronbach alpha - computed in the above study.

Which one of the following is true in the above context?

(1) All the three reliability coefficients would be same

(2) All the three reliability coefficients would be different
(3) (b) and (c¢) would be same. but (a) can be different

(4) (a) and (¢) would be same. but (b) can be different

Options:

6154758593 1
6154758594 2
6154758595 3
£154758596. 4

Question Number : 150 Question Id : 6154752204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If the project-incharge developed a 75-item version by adding similar items. what would be
the expected Cronbach alpha?

(1) 0.700 (2) 0.824
(3) 0.875 (4) 0.931
Options:

E154758597. 1
61547585398 2
E154758599. 3
E154758600. 4

Question Id : 6154752199 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 6154752200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
75-3 TEa77% (Item-remainder correlation) & TH&ed &q HHCigd § ¥ FH4] TaM9% 394w T8
HEEr B 7

-

(1) 2e I g-gmy
(2) F5 -7 (Phi-Coefficient)
(3) Fe a1 & (Contingency coefficient)

(4)  EE IEEHEd E-geey

Options:

6154758581 1
6154758582 2
6154758583 3
£154758584 4

Question Number : 147 Question Id : 6154752201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154758585 1
£154758586. 2
E154758587. 2
5154758588, 4

Question Number : 148 Question Id : 6154752202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154758559. 1

E154758590 2
5154758531 3
5154758592, 4

Question Number : 149 Question 1d : 6154752203 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:
6154758593 1
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: No Display Question Number : Yes
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E154758594 2
5154758585 3
5154758596, 4

Question Number : 150 Question Id : 6154752204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qAle T2 TYF UF S5 T510 F I FF TET #F 75 9% TF9 oG9 FAa] £ 9 399 g9TEd wmEEE
TR 91 2071 7

(1) 0.700 (2) 0.824
(3) 0.875 (4) 0.931
Options:

E154758597. 1
6154758538 2
E154758598. 3
E154758600. 4



